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↔⑧⑨❱❣✤③④➇➅⑦↕↔➙⑦➭✈✗✖✍➀✉❤✽t✬⑥❢③s❤✽⑤➅➀❢t✽➦✣✢➨⑨❹⑥➅t❥②✝❤➎t✕❶✗✖✽t❷❤✽⑨④⑤✉➢➵➯✮↔➙❤✡✈❷❶✾⑨❹⑥➅t➤➟❇❤☞❶❷✈❥➀✉❤✽t❥➀✉③❩⑥❢⑥✤✖☞❤➎t✕❿✿❤✽⑤✉✈✟✥☞✈❷❶①❤➲⑨❹❣✦✖✽↔↕⑦➙③④❶✗✖❁❤☞⑥
⑤✉✈①⑦↕↔➙⑦⑧t❷⑨④⑥❩✈❧➀✉❤✽t✧⑥❢③✉❤☞⑤➅➀❢t✧❣➫③❩➇❢⑦➙↔↕❤➎t✧②✝③❩❣✤❣➫❤➨❶❷❤✽↔➙⑨④⑦➙t✽➦✻❼❭⑥❂②✝③❩⑥➅t✘✖✧✙➘⑤❢❤☞⑥✩②✝❤④➯➘↔⑧⑨✬❿❢⑤➅⑦➙t①t❷⑨④⑥➅②✝❤➨➀✉❤❺✈①❶①⑨④⑥➅t➤❣✤⑦⑧t❷t❷⑦➙③④⑥✡❤✝✈
↔➙❤✕❣✤③④⑤❢➩④❤☞❣✤❤✽⑥❩✈❺➀✉❤➎t☎⑥❢③s❤☞⑤✩➀❢t❭❸➥③❩⑤❢❤☞⑥➘✈✟⑤➅⑥❱❶✘★❩↔↕❤✺✈①❶❷❡➎t❧⑦➙❣✤❿✩③❩❶➤✈✾⑨❹⑥➘✈✟t❷⑤❢❶✟↔➙⑨❁❿✿❤☞❶❷➟❇③④❶①❣✤⑨④⑥➅②✝❤✕➀✉❤✬②✝❤➎t❧❶✗✖✽t❷❤✽⑨④⑤✉➢➵➦
✢➨⑨❹⑥➅t✮②✝❤✝✈✸⑨❹❶❷✈❷⑦⑧②✝↔➙❤❭③❩⑥✩✖☞✈❷⑤➅➀❢⑦↕❤❽↔✪✛ ⑦➙❣✤❿➅⑨④②✝✈✮➀✉❤❽↔➙⑨❧❣✤③④➇❢⑦➙↔➙⑦➭✈✗✖❽➀✉❤➎t➠⑥❢③s❤✽⑤➅➀❢t➠❿➅⑨④❶➠↔✪✛ ⑨❹⑥➅⑨❹↔➙r✉t❷❤❭➀✉❤❽↔⑧⑨✧✈①③④❿✿③❩↔↕③❩➍④⑦➙❤❭➀✜✛ ⑤❢⑥
❶✗✖✽t❷❤✽⑨❹⑤➫⑨❩➀❥❝❢③✉②✧⑤❢⑥❢⑦⑧➀✉⑦➙❣➫❤✽⑥➅t❷⑦↕③❩⑥❢⑥❢❤☞↔Ø➦ ✔ ❤➎t✻⑥❢③s❤✽⑤➅➀❢t❭t❷❤❧➀✫✖✽❿❢↔➙⑨❩②✝❤✽⑥❩✈◆t❷❤☞↔➙③④⑥➫⑤❢⑥✤❣✤③④⑤❢➩④❤✽❣➫❤✽⑥❩✈◆➇❢❶①③❏➛❧⑥❢⑦➙❤☞⑥✤➀❢⑨❹⑥✩t
➀✉❤➎t❭t❷❤☞➍❩❣✤❤☞⑥❩✈✾t❭⑨④➀❉❸➤⑨④②✝❤✽⑥❩✈①t◆⑨➎➩④❤➎②✧➀❢❤✽t✻➟❇❶❷③❩⑥❩✈①⑦↕❡✽❶❷❤➎t✸❶✗✖✝➻✚✖➎②①❝❢⑦⑧t①t❷⑨④⑥❩✈❷❤➎t☞➦ ✔ ❤✽t❭⑥❢③s❤✽⑤➅➀❢t✻❿✿❤✽⑤❢➩④❤☞⑥➘✈❽②✝③❩❣➫❣✬⑤➅⑥❢⑦✬✙➘⑤❢❤✽❶
t❷❤☞⑤❢↔➙❤☞❣✤❤☞⑥➘✈✩✙➘⑤➅⑨❹⑥✩➀❱⑦➙↔➙t➨t❷③④⑥➘✈✮✭➲❿✿③④❶❷✈✘✖☞❤❥➀❢❤✬✈❷❶✾⑨❹⑥➅t❷❣✤⑦➙t①t➤⑦➙③❩⑥❱➀✯✛ ⑤❢⑥❛⑨❹⑤✉✈①❶❷❤✬⑥➅③s❤☞⑤➅➀➵➦✺➸✟③④⑤➅t➨➀✫✖☞✈❷❤☞❶①❣✤⑦↕⑥➅③④⑥➅t❺↔↕❤
✈①❤☞❣✤❿➅t❂❣✤③❉r④❤☞⑥ ❿✿③④⑤❢❶❂✈❷❶✾⑨❹⑥➅t❷❣✤❤✝✈➤✈①❶❷❤❛⑤❢⑥ ❣✤❤✽t①t❷⑨④➍④❤➽❤☞✈✖⑥❢③❩⑤➅t✖②☞⑨❹↔⑧②✝⑤➅↔↕③❩⑥➅t✍↔➙⑨❑➟❇③④⑥➅②✝✈❷⑦➙③④⑥❚➀✉❤ ➀❢❤☞⑥➅t❷⑦➭✈✗✖ ➀✉❤
❿❢❶①③④➇➅⑨④➇❢⑦➙↔↕⑦↕✈✘✖✟➀✉⑤✡↔↕⑦➙❤☞⑤➲➀✉❤☎❶①❤☞↔⑧⑨❹⑦⑧t✽➦✸➸☎③❩⑤➅t❭➟❇③④⑤❢❶①⑥❢⑦⑧t❷t❷③④⑥✩t◆⑨❹⑤➅t①t➤⑦➅⑤❢⑥❢❤✟❤✝➢✉❿❢❶①❤✽t①t❷⑦↕③❩⑥✤⑨❹❿➅❿❢❶❷③❢②①❝✤✖✽❤❧❿✿③④⑤❢❶❽↔➙❤❧✈❷❤✽❣✤❿➅t
❣✤③❉r④❤☞⑥❂⑥✤✖✽②☞❤✽t①t❷⑨④⑦↕❶①❤❺❿✿③❩⑤❢❶❞✈❷❶✾⑨❹⑥➅t❷❣✤❤✝✈❷✈❷❶①❤➨⑤❢⑥✖❣✤❤✽t①t❷⑨④➍④❤➨❤☞⑥➘✈❷❶①❤❅➀✉❤✽⑤✉➢✍❣✤③④➇❢⑦➙↔↕❤➎t☞➦
✰✴✃ ➒✽➑ ➮ →✲✱ ✍ ➑➶➣ ❾✳✖➎t➤❤➎⑨❹⑤✉➢❱❻❞➀➽❒☎③❢②❹➯◗❾❧❤☞↔⑧⑨❹⑦⑧t✽➯◗♠✖③✉➀✉❡✽↔↕❤➎t❺➀✉❤➫♠✖③❩➇❢⑦↕↔➙⑦↕✈✘✖④➯➵⑩❭❶❷❤✽❣✤⑦↕❤✽❶①t❺❜✮❤☞❣✤❿➅t❺➀✉❤➫⑩✸⑨❩t❷t①⑨❹➍❩❤④➯
❣✤③④⑤➅➩④❤☞❣✤❤☞⑥❩✈✟➼✧❶①③❏➛❧⑥❢⑦⑧⑨❹⑥❳➯✉⑩❭❶❷③❢②✝❤✽t①t❷⑤➅t❧♣➘✈❷③❢②①❝➅⑨❩t✇✈①⑦✬✙➘⑤❢❤➎t
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③④➟❺⑨➶➡❢➢✉❤✽➀❑⑦➙⑥✉➟❇❶①⑨❩t✇✈①❶❷⑤➅②✝✈❷⑤❢❶①❤✍❣✤⑨❏r ⑨❹❶①⑦➙t❷❤➲⑦➙⑥❑❤✽❣✤❤☞❶①➍④❤☞⑥✩②✝r➹t➤⑦↕✈❷⑤✩⑨❉✈❷⑦➙③④⑥✩t☞➯◆❶①❤☞❣✤③❹✈①❤➲❶①❤☞➍❩⑦↕③❩⑥➅t✽➯✻❝❢③➘t✇✈①⑦↕↔➙❤❂⑨④❶❷❤➎⑨④t
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⑦➙⑥✉➟❇❶✾⑨④t➤✈❷❶①⑤➅②➝✈①⑤❢❶❷❤❩➦
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❝❢③❢②➨⑥➅❤✝✈✇➛✱③④❶①➜➲⑥❢❤☞❤➎➀✍✈❷③✡➇✿❤☞❝➅⑨❏➩④❤✕⑨④t❧❶❷③❩⑤✉✈❷❤✽❶①t❞➇sr✍❶❷❤✽↔➙⑨❏rs⑦↕⑥❢➍✤❣✤❤✽t①t❷⑨④➍④❤➎t✧⑦➙⑥✖③❩❶①➀✉❤✽❶❞✈❷③✡⑦↕❣✤❿❢❶①③❏➩④❤✕②✝③❩❣➫❣✬⑤➅⑥❢⑦➭➳
②✽⑨❉✈❷⑦➙③④⑥✩t☞➦✸➧➥⑥✩t✇✈✾⑨❹⑥➅②☞❤✽t✱③④➟❳⑥➅③✉➀✉❤✽t✧⑦➙⑥❂⑨④➀✡❝➅③✉②✟⑥➅❤✝✈✇➛✱③④❶①➜✉t✧⑨❹❶①❤✟↔⑧⑨❹❿✉✈①③④❿➅t✽➯s❿❢↔⑧⑨❹⑥❢❤➎t☞☛➙➄④➄✍✌Ø➯❢②☞⑨④❶①t✽➯➘❤☞↔➙❤✽②✝✈❷❶①③④⑥❢⑦⑧②☎✈①⑨④➍❩t
③❩⑥❁⑨❹⑥❢⑦➙❣❁⑨❹↔⑧t✎☛↕➄➎➉✏✌ ➯❩❣✤③④➇❢⑦➙↔↕❤☎❿❢❝❢③❩⑥❢❤✽t✽➯④❤☞✈✱②✝❤☞✈❷❤✽❶①⑨➅➦✮➧ ➟➵⑥❢③✉➀✉❤➎t◆⑨❹❶①❤❞❣✤③❩➇❢⑦↕↔➙❤❧✈❷❝❢❤✽⑥❁③④❿✿❤✽❶①⑨❹✈❷⑦➙⑥❢➍➨✈❷❝❢❤➎t➤❤☎⑥❢❤☞✈➥➛✧③④❶①➜st
➇✿❤✽②☞③④❣✤❤✕❤☞➩④❤✽⑥✖❣✤③❩❶❷❤✬②✝③④❣✤❿❢↔➙❤✝➢➵➯✿⑨④t☎❣➫③❩➇❢⑦➙↔↕⑦↕✈✇r✍➛❧⑦➙↔➙↔❳⑦➙❣✤❿➅⑨④②✝✈✟❶①③④⑤✉✈①⑦↕⑥❢➍✡❿❢❶❷③④✈❷③✉②☞③④↔⑧t☞➯➅②☞③④⑥❩✈①❶❷③❩↔➠③❹➟✻✈①❶①⑨④⑥➅t❷❣➫⑦⑧t➤➳
t❷⑦↕③❩⑥✤❿✿③❉➛✱❤☞❶➎➯✲✙➘⑤➅⑨❹↔➙⑦↕✈➥r➫③❹➟➠t➤❤✽❶❷➩s⑦⑧②✝❤✕➾❇❤❩➦ ➍✩➦✸⑦↕⑥➘✈❷❤✽❶➤➟❇❤✽❶❷❤☞⑥✩②✝❤④➯❩❿➅⑨❹✈❷❝❁↔➙③❩t①t☞➯➘t➤❝➅⑨❩➀✉③❉➛❧⑦↕⑥❢➍❅❤✞✑✿❤✽②✝✈①t✾➚➝➯➘➇➅⑨❹✈➤✈①❤☞❶①r✬⑤✩t❷⑨④➍④❤④➯
✈①③✤⑥➅⑨❹❣✤❤✺➇➅⑤✉✈✟⑨❥➟❇❤☞➛❅➦

❻✟t✟↔➙③④⑥➅➍➲⑨④t❺➀❢⑨❉✈✾⑨✡➀✉③s❤➎t☎⑥❢③④✈❺❝➅⑨❏➩④❤❅✈①③✡➇✿❤✬✈❷❶✾⑨❹⑥➅t➤➟❇❤☞❶①❶❷❤➎➀✖➀✉⑦➙❶❷❤➎②➝✈❷↔➙r❂➇✿❤✝✈✇➛✱❤✽❤☞⑥❱✈✇➛✱③➲❣✤③④➇❢⑦➙↔➙❤✽t❺⑨❹⑥➅➀✖✈❷❝✩⑨❉✈
⑥❢③❢➀✉❤✽t◆⑨❹❶①❤❞➛❧⑦↕↔➙↔➙⑦↕⑥➅➍✺✈❷③❅❶①❤☞↔⑧⑨➎r✬❣➫❤➎t❷t①⑨❹➍❩❤✽t✽➯❏✈①❝❢❤☞⑦➙❶◆❣✤③④➇❢⑦➙↔➙⑦➭✈✇r❥❣❁⑨➎r✬❝➅⑨❏➩④❤☎⑨➨❿✿③➘t➤⑦↕✈❷⑦➙➩④❤❧⑦↕❣✤❿➅⑨❩②➝✈◆③❩⑥➫✈❷❝❢❤☎❿✿❤☞❶❷➟❇③④❶❷➳
❣❁⑨❹⑥✩②✝❤④➯❢⑨④t❞t❷❝❢③❉➛❧⑥➲⑦➙⑥✒☛ ✓✔✌ ➦❭❜❞❝❢⑦⑧t❞❝➅⑨④t✧↔➙❤✽➀➲✈❷③❥✈①❝❢❤❅➀✉❤✽t❷⑦➙➍④⑥✍③❹➟✮❿❢❶①③❹✈①③✉②✝③❩↔➙t❽✈❷❝➅⑨❹✈❞✈①⑨❹➜④❤✺⑨❩➀✉➩❉⑨④⑥❩✈✾⑨❹➍④❤❺③❹➟✮⑥❢③❢➀✉❤
❣✤③④➇➅⑦↕↔➙⑦➭✈✇r➶✈❷③✖❤☞⑥❢❝✩⑨❹⑥➅②✝❤➫✈①❝❢❤✤❿✿❤✽❶➤➟❇③❩❶❷❣❁⑨❹⑥✩②✝❤❥③④➟✧t❷③④❣✤❤❁⑨❹❿❢❿❢↔➙⑦⑧②☞⑨❉✈①⑦↕③❩⑥➅t✤➾❇❤❩➦ ➍✩➦➫❣✤❤✽t①t❷⑨④➍④⑦➙⑥❢➍❂⑨④❿❢❿❢↔➙⑦➙②✽⑨❉✈❷⑦➙③④⑥✩t➨⑦↕⑥
☛✖✕✗✌ ➚✝➦ ✢➨⑨❉✈✾⑨❅❶❷❤✽↔➙⑨❏rs⑦↕⑥❢➍✕②✝⑤✉✈✾t❽➀✉③❉➛❧⑥➫✈①❶①⑨④⑥➅t❷❣➫⑦⑧t①t➤⑦➙③④⑥➫❿✿③❉➛✱❤☞❶➎➯④⑦➙⑥❩✈①❤☞❶❷➟ ❤✽❶❷❤✽⑥➅②✝❤➎t◆⑨④⑥➅➀➫⑦➙⑥➅②☞❶❷❤➎⑨④t❷❤✽t✻➇➅⑨❹✈➤✈①❤☞❶①r✬⑤✩t❷⑨④➍④❤④➦
❦❺⑥ ✈①❝❢❤➲③④✈❷❝❢❤✽❶✬❝➅⑨❹⑥✩➀➵➯✻⑦↕✈❥❣✤⑨❏r❛⑦↕⑥✩②✝❶①❤✽⑨④t❷❤❁↔⑧⑨❉✈①❤☞⑥➅②☞r➽➳✺t❷⑦↕⑥➅②☞❤❁✈①❝❢❤➲❤✝➢✉⑦⑧t✇✈①❤☞⑥➅②☞❤➲⑨❹✈❥⑨④⑥➘r➺✈❷⑦➙❣➫❤✍③❹➟☎⑨✙✘✇❿➅⑨❹✈❷❝✛✚
➇✿❤✝✈✇➛✱❤✽❤☞⑥❁✈✇➛✱③✕❣✤③❩➇❢⑦↕↔➙❤✽t❽⑦➙t❽⑥❢③④✈✱➍④⑤➅⑨④❶①⑨④⑥❩✈❷❤✽❤✽➀❥➳✸❤☞➩④❤☞⑥✡⑦➭➟❽➾❘⑦↕⑥➘✈❷❤☞❶①❣✤❤✽➀✉⑦⑧⑨❹❶①r❢➚✻⑥❢③✉➀❢❤✽t❽②✽⑨❹⑥❁➇✿❤✟⑤➅t❷❤✽➀✡⑨④t◆❶①③④⑤✉✈①❤☞❶✾t
✈①③❁②✝③❩⑥➘➩④❤☞r➲⑨➫❣✤❤➎t❷t①⑨❹➍❩❤✟➟❇❶①③④❣ ⑦➭✈✾t☎t➤③❩⑤❢❶①②☞❤❺✈❷③✤⑦↕✈✾t❧➀❢❤✽t➤✈❷⑦➙⑥➅⑨❉✈①⑦↕③❩⑥➠➦

➧➥⑥➲✈❷❝❢⑦⑧t❞❿➅⑨❹❿✿❤☞❶❞➛✱❤✺t➤✈❷⑤➅➀✉r❁✈①❝❢❤➨⑦➙❣✤❿➅⑨④②✝✈❞③❹➟✮❣✤③④➇❢⑦➙↔➙⑦➭✈✇r❁③❩⑥✡✈①❝❢❤✺↔➙⑨❹✈❷❤☞⑥✩②✝r❁⑦➙⑥➲✈❷❝❢❤❅②☞⑨❩t➤❤❺③④➟❳⑥➅③✉➀✉❤✽t❞⑨④②✝✈❷⑦➙⑥❢➍
⑨❩t✟❶❷❤☞↔⑧⑨❏r✍⑥❢③❢➀✉❤✽t✽➦❺❜❞❝❢⑦⑧t❺⑦➙t➨➀✉③❩⑥❢❤✕➟❇③④❶➨③④⑥❢❤✝➳➥➀✉⑦➙❣✤❤☞⑥➅t❷⑦↕③❩⑥➅⑨❹↔✸⑨④➀❱❝❢③✉②✕⑥➅❤✝✈✇➛✱③④❶①➜✍✈❷③❩❿✿③④↔➙③④➍④⑦➙❤✽t✟⑨❹⑥✩➀❱⑤❢⑥➅➀✉❤✽❶✟✈①❝❢❤
⑨❩t❷t❷⑤❢❣✤❿✉✈❷⑦➙③④⑥✍✈❷❝✩⑨❉✈☎⑥❢③✉➀✉❤➎t❞❣✤③❏➩④❤❅⑨④②✽②✝③❩❶①➀✉⑦➙⑥❢➍❥✈❷③❱➾❘⑦↕⑥➅➀❢❤☞❿✿❤☞⑥➅➀❢❤☞⑥❩✈➝➚❧➼✧❶①③❏➛❧⑥❢⑦⑧⑨❹⑥✍❣✤③❹✈①⑦↕③❩⑥➅t☞➦

❻❚⑥➅⑨❹✈❷⑤❢❶✾⑨❹↔➵⑨④❿❢❿❢❶①③❩⑨❩②①❝➺➾❘➇❢⑤✉✈☎⑥❢③④✈❞✈❷❝❢❤❅③④⑥❢↔➙r✡③④⑥➅❤④➯❢t➤❤✽❤✜☛ ➌✔✌➵➟❇③❩❶❧⑨④⑥❂⑨④⑥❢③❹✈①❝❢❤☞❶❧⑨④❿❢❿❢❶①③❩⑨④②✾❝✩➚◆✈❷③✤❣✤③✉➀✉❤✽↔↕⑦➙⑥❢➍
⑨✬❣✤③④➇❢⑦➙↔➙❤➨⑨④➀✡❝❢③❢②✟⑥❢❤✝✈✇➛✱③④❶①➜✤➛❧⑦↕✈❷❝✍❶❷❤✽↔➙⑨❏rs⑦↕⑥➅➍✕⑥❢③❢➀✉❤✽t✧②✝③❩⑥➅t❷⑦➙t➤✈①t✱③❹➟❳↔➙③s③❩➜➘⑦➙⑥❢➍❥➀✉③❉➛❧⑥✍⑨❉✈✱✈①❝❢❤➨❤✽⑨④❶➤✈①❝➲⑨④⑥➅➀✡❶❷❤✽❿✉➳
❶①❤✽t❷❤☞⑥❩✈①⑦➙⑥❢➍✕⑦➭✈❞⑨④t❽⑨❅➡➅⑥❢⑦↕✈❷❤✟✈➥➛✧③❹➳ ➀❢⑦↕❣✤❤☞⑥✩t➤⑦➙③④⑥➅⑨④↔➅❿❢↔➙⑨④⑥❢❤④➦✻➧ ➟➵✈➥➛✧③✕❣✤③④➇➅⑦↕↔➙❤✽t✱⑨❹❶①❤☎➛❧⑦➭✈①❝❢⑦↕⑥✍⑨✺➡❢➢✉❤➎➀➫✈①❶①⑨④⑥➅t❷❣➫⑦⑧t①t➤⑦➙③④⑥
❶✾⑨❹⑥❢➍❩❤❞③❹➟◗❤➎⑨④②✾❝✤③❹✈①❝❢❤☞❶❭✈①❝❢❤☞⑥➲⑨✺❣✤❤✽t❷t①⑨❹➍❩❤❧②☞⑨④⑥✤➇✿❤☎❶❷❤☞↔⑧⑨❏r④❤✽➀✣✢❏✈❷❶✾⑨❹⑥➅t➤❣✤⑦↕✈➤✈❷❤➎➀❂➾❫t➤❤☞❤✟❮✸⑦↕➍❩⑤❢❶①❤❅➄➎➚➝➦✻❮➅⑤❢❶❷✈❷❝❢❤✽❶❷❣✤③❩❶❷❤❩➯
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❣✤③④➇➅⑦↕↔➙❤✽t◆❣✤③❉➩④❤✟⑨❹↔➙③④⑥❢➍✺✈①❝❢❤❺t❷❤☞➍④❣✤❤✽⑥❩✈✱⑨❩②☞②✝③❩❶①➀❢⑦↕⑥❢➍✺✈❷③✬⑦↕⑥➅➀❢❤☞❿✿❤☞⑥➅➀❢❤☞⑥❩✈❞➼✧❶❷③❉➛❧⑥❢⑦⑧⑨❹⑥✤❣✤③❹✈①⑦↕③❩⑥➅t☞➦✸➪❛❤❺⑨❹❶①❤❧⑦➙⑥❩✈①❤☞❶❷➳
❤➎t✇✈①❤✽➀❁⑦➙⑥➲②☞③④❣✤❿❢⑤✉✈①⑦↕⑥➅➍✕✈❷❝❢❤❺❤☞➢✉❿✿❤✽②➝✈①❤✽➀✤✈①⑦↕❣✤❤❺⑤❢⑥➘✈❷⑦➙↔✿➇✿③④✈❷❝✡❣✤③❩➇❢⑦↕↔➙❤✽t✧②✝③④❣✤❤✟➛❧⑦↕✈❷❝❢⑦➙⑥✍②✝③❩❣✤❣✬⑤❢⑥❢⑦⑧②☞⑨❉✈①⑦↕③❩⑥❁❶✾⑨❹⑥➅➍④❤
③④➟✧❤✽⑨❩②①❝ ③❹✈①❝❢❤☞❶➎➦➲❜❞❝❢⑦⑧t ✙➘⑤➅⑨❹⑥➘✈❷⑦↕✈➥r➺⑦➙t✕②☞③④❣✤❿❢⑤✉✈①❤✽➀➺➟❇③❩❶✕⑨④⑥➘r➽➍❩⑦↕➩④❤✽⑥❛⑦↕⑥➅⑦➭✈①⑦➙⑨④↔◆↔➙③✉②☞⑨❹✈❷⑦➙③④⑥➅t❁➾❫⑩❭❶❷③❩❿✿③❩t❷⑦➭✈①⑦↕③❩⑥➹➈✉➦➙➄➎➚
⑨❩t❞➛✱❤☞↔➙↔❳⑨④t❞➟❇③④❶❞✈①❝❢❤✕②✽⑨④t❷❤➨➛❧❝❢❤✽❶❷❤❅❤✽⑨④②✾❝✖➼✧❶❷③❉➛❧⑥❢⑦⑧⑨❹⑥✍❣✤③❹✈①⑦↕③❩⑥❂⑦⑧t❧⑦↕⑥❢⑦↕✈❷⑦⑧⑨④↔↕↔➙r➲⑦➙⑥✖t➤✈❷❤➎⑨④➀✉r➘➳➥t✇✈✾⑨❉✈①❤✤➾❘⑩◆❶❷③❩❿✿③❩t❷⑦➭✈①⑦↕③❩⑥
➈❢➦ ➃➘➚➝➦✺➧ ✈✺⑦⑧t❺➜s⑥❢③❉➛❧⑥ ➾❘t❷❤☞❤❁♣s❤✽②✝✈❷⑦➙③④⑥➺➃➘➚❧✈①❝➅⑨❉✈➨✈①❝❢❤➫↔➙⑨❹✈➤✈①❤☞❶✺⑨❩t❷t❷⑤❢❣✤❿✉✈❷⑦➙③④⑥➽⑦➙❣➫❿➅↔↕⑦➙❤✽t❺✈①❝➅⑨❉✈✺➇✿③❹✈①❝➽❣✤③④➇➅⑦↕↔➙❤✽t✺⑨❹❶①❤
⑤❢⑥❢⑦↕➟❇③④❶①❣✤↔➙r➲➀✉⑦⑧t➤✈❷❶①⑦↕➇❢⑤❢✈❷❤✽➀❂③❉➩④❤☞❶✧✈①❝❢❤✕t➤❤✽➍④❣✤❤☞⑥➘✈✽➦◆❜❞❝❢❤✺⑤❢⑥➅⑦➭➟❇③❩❶❷❣✹t❷❿➅⑨❉✈①⑦➙⑨④↔➠➀✉⑦➙t➤✈❷❶①⑦➙➇❢⑤✉✈❷⑦➙③④⑥✖③❏➩④❤✽❶✧✈❷❝❢❤✕②☞③❏➩④❤✽❶①⑨④➍④❤
⑨④❶❷❤➎⑨❺❝✩⑨④t◆⑨❹✈➤✈❷❶✾⑨④②✝✈❷❤➎➀➫⑨❹✈➤✈①❤☞⑥❩✈①⑦↕③❩⑥✤↔⑧⑨❉✈①❤☞↔➙r❥⑨④⑥➅➀✤t❷❤☞➩④❤✽❶①⑨④↔s➟❇⑤❢⑥➅➀❢⑨④❣➫❤✽⑥❩✈✾⑨❹↔➅❶①❤✽t❷⑤❢↔↕✈①t✟☛↕➄✍✌ ☛ ✓✔✌✩❝➅⑨❏➩④❤❧➇✿❤☞❤✽⑥✤③❩➇✉✈①⑨④⑦↕⑥➅❤✽➀
⑦➙⑥➲✈❷❝❢⑦⑧t❞t➤❤☞✈➤✈①⑦↕⑥➅➍➅➦❭❒✟③❏➛✱❤✽➩④❤☞❶➎➯➘③④⑤❢❶✧❣✤③✉➀✉❤✽↔✿⑦⑧t❞➀✉⑦✧✑✿❤✽❶❷❤✽⑥❩✈✧➟❇❶①③④❣ ✈❷❝❢❤➨❣✤③✉➀❢❤☞↔⑧t✧②✝③❩⑥➅t❷⑦➙➀✉❤✽❶❷❤➎➀❁⑦➙⑥✡✈①❝❢③❩t❷❤❺❿➅⑨④❿✿❤☞❶✾t☞➦

➧➥⑥➲♣✉❤✽②➝✈①⑦↕③❩⑥✡➃➅➯❩➛✱❤❺②✝③❩⑥➅t➤⑦⑧➀✉❤✽❶
I
❣✤③❩➇❢⑦↕↔➙❤✽t✱⑨❹⑥➅➀

I
t➤❤✽➍④❣✤❤☞⑥➘✈①t✽➯❩③④⑥❢❤✟❣✤③④➇❢⑦➙↔↕❤✟❿✿❤☞❶✧t➤❤✽➍④❣✤❤☞⑥➘✈✽➯s⑨④t❽➀✉❤✽❿❢⑦⑧②➝✈❷❤➎➀

⑦➙⑥➽❮✮⑦➙➍④⑤➅❶❷❤❥➂❢➦☎❜❞❝❢❤✬❣✤③④➇❢⑦➙↔↕❤➎t☎❣✤③❉➩④❤✬⑨❹↔➙③④⑥➅➍✤✈❷❝❢❤✽⑦↕❶❺❶①❤✽t❷❿✿❤✽②✝✈❷⑦➙➩④❤✕t❷❤☞➍❩❣✤❤☞⑥❩✈➫➾❇➛❧⑦↕✈❷❝➽❶❷❤☞➻➅❤✽②✝✈❷⑦➙⑥❢➍✡➇✿③④⑤➅⑥➅➀❢⑨❹❶①⑦↕❤➎t①➚
⑨❩②☞②✝③❩❶①➀✉⑦➙⑥❢➍➨✈❷③❅⑦➙⑥➅➀✉❤✽❿✿❤☞⑥➅➀❢❤☞⑥❩✈✧➼✧❶❷③❉➛❧⑥❢⑦⑧⑨❹⑥➫❣✤③❹✈①⑦↕③❩⑥➅t☞➦✻❜❞❝❢❤☎➍④③❩⑨④↔✉⑦⑧t✻✈①③✕➀✉❤✝✈①❤☞❶①❣✤⑦↕⑥❢❤❧✈①❝❢❤☎❤✝➢✉❿✿❤✽②✝✈❷❤✽➀➫✈❷❶✾⑨❹⑥➅t➤➟❇❤☞❶
✈①⑦↕❣✤❤❥➇✿❤✝✈✇➛✱❤☞❤☞⑥➶✈❷❝❢❤✬➡➅❶①t➤✈➨⑨❹⑥➅➀❱↔⑧⑨④t➤✈✟❣✤③④➇➅⑦↕↔➙❤✬⑦↕⑥➶✈❷❝❢❤➫t➤❤ ✙❩⑤➅❤☞⑥➅②✝❤✍➾❘⑩◆❶❷③❩❿✿③❩t❷⑦➭✈①⑦↕③❩⑥❱➃➅➦ ➈❩➚➝➦✟❻✟t➨⑨❹⑥➶⑨❩➀❢➀✉⑦↕✈❷⑦➙③④⑥➅⑨④↔
❶①❤✽t❷⑤❢↔↕✈✽➯✸➛✧❤✡⑦⑧➀✉❤☞⑥➘✈❷⑦↕➟❇r❛✈❷❝❢❤➲❿➅❶❷③❩➇➅⑨❹➇❢⑦➙↔➙⑦➭✈✇r❛➀✉❤☞⑥✩t➤⑦↕✈➥r❛➟❇⑤❢⑥➅②➝✈①⑦↕③❩⑥●➾❇❿◗➀s➟✾➚✕③④➟❞✈❷❝❢❤✍❿✿③❩t❷⑦➭✈①⑦↕③❩⑥ ③④➟☎⑨❱❣✤③④➇❢⑦➙↔➙❤➲⑨❉✈➫⑨
❶①❤☞↔⑧⑨➎r➶❤✽❿✿③✉②✾❝ ➾❘⑩◆❶❷③❩❿✿③❩t❷⑦➭✈①⑦↕③❩⑥❛➃➅➦↕➄❏➚➝➦➲➸☎⑤➅❣➫❤✽❶❷⑦⑧②☞⑨④↔❭❶①❤✽t❷⑤❢↔↕✈①t✕⑨❹❶①❤✤❶❷❤✽❿✿③④❶❷✈❷❤✽➀➺⑦➙⑥ ♣s❤✽②✝✈❷⑦➙③④⑥ ➊➅➦➲❜❞❝❢❤➎t➤❤❁❶①❤✽t❷⑤❢↔➭✈✾t
t❷⑤❢➍④➍❩❤✽t➤✈❧⑨❹⑥✖⑨❩②☞②✝⑤❢❶✾⑨❉✈①❤✺⑨❹⑥➅➀✖t❷②☞⑨④↔⑧⑨❹➇❢↔➙❤✺⑨❹❿❢❿➅❶❷③❏➢✉⑦↕❣❁⑨❉✈①⑦➙③④⑥✡➟❇③❩❶❞✈❷❝❢❤❅❤✝➢✉❿✿❤➎②➝✈❷❤➎➀➲✈①❶①⑨④⑥➅t✇➟❇❤✽❶✧✈①⑦↕❣✤❤✡➾❘t❷❤☞❤✡➾✇➄❏➂④➚➤➚✝➦

☎ ✲ ★✪✒ ☛ ✒✕✔❂✠✽✄➝✁❧✯ ☛ ✒ ✠❁✠✽☛➲✌ ✆✬✄✝✒❥☛➲✌ ✆ ✄☞✠✽☛➲✁✢✯❳✁❧✌✄☛ ✁☎☛✬✦

➪❛❤✤②☞③④⑥➅t❷⑦➙➀❢❤☞❶❺✈✇➛✱③❂❣✤③④➇❢⑦➙↔↕❤➎t✤➾❘t①⑨➎r❱❣✤③④➇❢⑦➙↔➙❤✽t
X

⑨❹⑥✩➀
Y
➚❺❣➫③❉➩s⑦➙⑥❢➍❂⑨❹↔➙③④⑥❢➍❂t❷❤☞➍④❣✤❤✽⑥❩✈

[0, L]
➦➫♣s❤☞❤✤❮✸⑦➙➍④⑤❢❶①❤

➈❢➦◆✐✱③❩❣✤❣✬⑤❢⑥❢⑦⑧②☞⑨❉✈①⑦↕③❩⑥➅t✱➇✿❤☞✈➥➛✧❤☞❤☞⑥✍✈❷❝❢❤➎t➤❤❺✈✇➛✱③➫❣✤③④➇➅⑦↕↔➙❤✽t✧③✉②✽②✝⑤❢❶✧③❩⑥❢↔➙r❁➛❧❝❢❤☞⑥➲✈①❝❢❤❅➀✉⑦➙t➤✈①⑨④⑥➅②✝❤➨➇✿❤✝✈✇➛✱❤✽❤☞⑥➲✈①❝❢❤☞❣
⑦⑧t✺↔↕❤➎t❷t➨✈❷❝✩⑨❹⑥❛③④❶✺❤ ✙➘⑤➅⑨❹↔✻✈❷③

r ≤ L
➦❁❜❞❝❢❤✤③④➇✉❸✇❤✽②✝✈❷⑦➙➩④❤✤③❹➟✱✈❷❝❢⑦⑧t❅t❷❤✽②✝✈❷⑦➙③④⑥➺⑦⑧t➨✈❷③❱➀✉❤☞✈❷❤☞❶①❣✤⑦↕⑥➅❤➫✈❷❝❢❤❁❤✝➢✉❿✿❤✽②✝✈❷❤✽➀

✥ ✩ ✆✟✡❀✭✝✆ ✁☎✩ ✥ ✠ ✁ ✁✝➯✮➀✉❤✝➡➅⑥➅❤✽➀❛⑨④t❺✈①❝❢❤➫➡➅❶✾t✇✈✺✈❷⑦➙❣➫❤❁➛❧❝❢❤☞⑥❛➇✿③❹✈①❝➺❣✤③④➇❢⑦➙↔➙❤✽t✺②☞③④❣✤❤➫➛❧⑦↕✈❷❝ ⑨❂➀✉⑦⑧t➤✈①⑨❹⑥✩②✝❤ r
③④➟✱❤✽⑨④②✾❝

③④✈❷❝❢❤✽❶✽➦
✔ ❤✝✈

x(t)
⑨❹⑥✩➀

y(t)
➇✿❤❧✈❷❝❢❤✟❿✿③❩t❷⑦➭✈①⑦↕③❩⑥➫③④➟◗❣✤③④➇❢⑦➙↔➙❤✽t

X
⑨④⑥➅➀

Y
➯❩❶①❤✽t❷❿✿❤✽②✝✈❷⑦➙➩④❤☞↔➙r④➯❩⑨❉✈◆✈❷⑦➙❣✤❤

t
➦✸➪❛❤✟⑨❩t❷t❷⑤❢❣✤❤

✈①❝➅⑨❉✈
X = {x(t), t ≥ 0} ⑨④⑥➅➀

Y = {y(t), t ≥ 0} ⑨❹❶①❤❂⑦➙➀✉❤✽⑥❩✈①⑦➙②✽⑨❹↔✟⑨❹⑥➅➀ ⑦↕⑥✩➀✉❤☞❿✿❤☞⑥✩➀✉❤☞⑥❩✈✍➼✧❶❷③❉➛❧⑥❢⑦⑧⑨❹⑥
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0 Lr r

0 0x y

❮✸⑦➙➍④⑤❢❶①❤✕➈ �◆❜❳➛✱③✤❣✤③④➇➅⑦↕↔➙❤✽t❧❣➫③❉➩s⑦↕⑥➅➍✤⑨④↔↕③❩⑥❢➍
[0, L]

➛❧⑦↕✈❷❝❂✈❷❶✾⑨❹⑥➅t❷❣✤⑦⑧t❷t❷⑦↕③❩⑥➲❶✾⑨❹⑥❢➍❩❤
r
➦

❣✤③❹✈①⑦↕③❩⑥➅t❽➛❧⑦➭✈①❝➲➀❢❶❷⑦↕➟ ✈
0
⑨④⑥➅➀✡➀✉⑦✧✑✿⑤✩t➤⑦➙③④⑥✍②✝③s❤✍✦✡②☞⑦↕❤✽⑥❩✈ ✁

D
➯➘➇✿③④✈❷❝✡❣✤③❉➩s⑦↕⑥❢➍❥⑨❹↔➙③④⑥❢➍❅✈①❝❢❤➨t➤❤✽➍④❣✤❤☞⑥➘✈

[0, L]
➛❧⑦➭✈①❝

✩ ✁✄✂ ✁✬✜☎✥✧✠☛✡✌☞✺➇✿③④⑤❢⑥➅➀❢⑨④❶❷⑦➙❤✽t❧⑨❉✈❞✈①❝❢❤❅❤✽➀❢➍④❤✽t✽➦ ✔ ❤☞✈
TL,r

➇✿❤✺✈❷❝❢❤✺✈①❶①⑨④⑥➅t➤➟❇❤☞❶✧✈①⑦↕❣✤❤❩➯❢⑥➅⑨④❣➫❤✽↔↕r❩➯

TL,r = inf{t ≥ 0 : |y(t) − x(t)| ≤ r}. ➾➤➄➎➚
♣s❤☞✈

x(0) = x0
⑨❹⑥➅➀

y(0) = y0
➦◆➼✧r❁②✝③❩⑥➘➩④❤✽⑥❩✈❷⑦➙③❩⑥✡➛✱❤✺⑨④t①t➤⑤➅❣➫❤✟✈①❝➅⑨❉✈

TL,r = 0
⑦↕➟ |y0 − x0| ≤ r

➦❭❮❢❶①③④❣
⑥❢③❉➛ ③④⑥❂➛✱❤✕⑨④t①t➤⑤❢❣✤❤➨✈❷❝➅⑨❹✈ |y0 − x0| > r

➦
➪➺❤✕⑨❹❶①❤➨⑦➙⑥❩✈①❤☞❶①❤✽t➤✈❷❤➎➀✍⑦↕⑥

TL,r(x0, y0) := IE[TL,r |x(0) = x0, y(0) = y0], 0 < x0, y0 < L,

✈①❝❢❤❥❤☞➢s❿✿❤➎②➝✈①❤✽➀❱✈❷❶✾⑨❹⑥➅t➤➟❇❤☞❶✟✈①⑦↕❣✤❤➫➍④⑦➙➩④❤☞⑥❱✈①❝➅⑨❉✈✺❣➫③❩➇❢⑦➙↔↕❤➎t
X

⑨④⑥➅➀
Y
⑨④❶❷❤✬↔➙③✉②☞⑨❹✈❷❤✽➀➶⑨❹✈➨❿✿③❩t❷⑦➭✈①⑦↕③❩⑥

x0
⑨④⑥➅➀

y0
➯

❶①❤✽t❷❿✿❤✽②➝✈①⑦↕➩❩❤☞↔➙r④➯❢⑨❉✈❞✈①⑦↕❣✤❤
t = 0

➦◆❜❞❝❢❤➨➟❇③❩↔↕↔➙③❉➛❧⑦↕⑥❢➍✤❶❷❤➎t➤⑤➅↔➭✈❧❝➅③④↔⑧➀❢t �

☎ ➓ ✃✝✆❭✃ ➑❏✳ ➒✢✳ ✃ ✲ ✵✟✞ ✯✡✠☞☛✍✌ ✆◆➷ →❹➒ ➷ ❐ ➒✽➓❏➔ ✲ ➑ ❁ ➷ ➓✡➒❏✳ ✒ ➷❱➱ ✳ ➒❏✿ ✺ ✳ ✹✩➷ ✲ ✳ ✲ ✳ ➒❏✳❇➔✤✱ ✆❭✃ ➑❏✳ ➒✢✳ ✃ ✲ ➑✏✎ ✞
✑❃✑✟✩

0 ≤ x0 < y0 ≤ L
✦ ✠☛✥✄✒

x0 + r < y0
✆✟✡ ✘

0 ≤ r ≤ L

TL,r(x0, y0) =
32(L − r)2

Dπ4

∞
∑

m≥1
m ✓✄✔✕✔

∞
∑

n≥1
n ✓✖✔✕✔

sin
(

mπ(y0+x0−r)
2(L−r)

)

sin
(

nπ(y0−x0−r)
2(L−r)

)

mn(m2 + n2)
.

➾Ø➈④➚

⋄
❜❞❝❢❤❺❿➅❶❷③s③④➟➠③❹➟✮⑩◆❶❷③❩❿✿③❩t❷⑦➭✈①⑦↕③❩⑥✍➈✉➦➙➄✟⑦⑧t✧➇➅⑨④t❷❤✽➀✡③④⑥✡✈①❝❢❤❺➟❇③④↔➙↔↕③❉➛❧⑦➙⑥❢➍✬⑦➙⑥➘✈❷❤☞❶①❣✤❤✽➀✉⑦⑧⑨❹❶①r✤❶❷❤➎t➤⑤❢↔↕✈✱✈①❝➅⑨❉✈❞➍❩⑦↕➩④❤➎t◆✈①❝❢❤

❤☞➢s❿✿❤➎②➝✈❷❤➎➀❁✈❷⑦➙❣➫❤❺➟❇③④❶❞⑨❅✈✇➛✱③④➳ ➀✉⑦➙❣✤❤☞⑥➅t❷⑦➙③④⑥➅⑨④↔✿➼✱❶①③❉➛❧⑥❢⑦➙⑨④⑥❁❣✤③❹✈①⑦↕③❩⑥✘✗❑❤☞➩④③❩↔↕➩s⑦➙⑥❢➍✕⑦➙⑥✍⑨
R
➇➘r

R
t✗✙➘⑤➅⑨❹❶①❤☎✈❷③❥❝❢⑦↕✈

⑨④⑥➘r✡➇✿③❩⑤❢⑥➅➀❢⑨④❶❷r✡③❹➟✮✈①❝❢❤✕t✘✙➘⑤➅⑨④❶❷❤❩➦
☎ ➓ ✃✝✆❭✃ ➑❏✳ ➒✢✳ ✃ ✲ ✵✟✞ ✵✙✠ ✶ ➱❥✃✛✚ ➓ ✃✉➱ ✲ ✳❇➔ ✲ ✒ ✃ ➒✢✳ ✃ ✲ ➑ ✳ ✲ ➔❛➑✢✜✯✏✮➔✉➓ ➷ ✎ ✞

✣ ✑✪✡❀✭✕✠ ✘ ✁☎✩ ✥ ✦★✑ ✠☛✡ ✘ ✁☞✤❅✁☎✡❂✘ ✁☎✡●✥ ✆✟✡❂✘ ✠ ✘ ✁☎✡ ✥✧✠ ✜✬✆✟✄ ✑✟✡ ✁✦✥ ✘✪✠ ✁ ✁☎✡❀✭✕✠ ✑✪✡❂✆✟✄★✧ ✩ ✑✟✦ ✡●✠ ✆✪✡ ✁ ✑✟✥ ✠ ✑✟✡●✭ {u(t),
t ≥ 0} ✆✪✡❂✘ {v(t), t ≥ 0} ✩ ✦ ✠☛✥✖✒✙✪✢✁☎✩ ✑ ✘✪✩✕✠ ✆✬✥ ✆✟✡❂✘ ✘✟✠ ✫✭✬✌✭✕✠ ✑✟✡ ✜ ✑❏✁✖✮ ✜☎✠ ✁ ✡ ✥

D ✯✱✰ ✁✖✲★✡❂✁ ✥✄✒✌✁ ✥ ✦★✑✳✥
✘✪✠ ✁ ✁☎✡❀✭✕✠ ✑✟✡ ✆✟✄✴✧ ✩ ✑✪✦ ✡●✠ ✆✪✡ ✁ ✑✟✥ ✠ ✑✟✡

Z = {z(t) = (u(t), v(t)), t ≥ 0} ✯✭✵ ✁ ✥ u0 = u(0)
✆✪✡❂✘

v0 := v(0)✆✪✡❂✘ ✆ ✭✬✭✶✬ ✁ ✁✗✥✄✒✌✆✪✥ 0 ≤ u0 ≤ R
✆✟✡ ✘

0 ≤ v0 ≤ R ✯✷❃✁ ✥
τR := inf{t ≥ 0 : u(t) ∈ {0, R} ✑✪✩

v(t) ∈ {0, R}}
✓ ✁✗✥✄✒✌✁✸✲ ✩✬✭✕✥★✥ ✠ ✁ ✁✚✦✹✒✌✁☎✡✒✥✄✒✌✁✺✤ ✩ ✑✢✜✬✁✕✭✬✭✻✗✼✒ ✠☛✥✧✭ ✥✄✒✌✁ ✓ ✑✳✬❅✡❂✘ ✆✟✩✕✞ ✑ ✆✚✆ ✭✦✽✾✬●✆✟✩ ✁ ✑ ✆ ✭✕✠✿✪✢✁

R
✓ ✞

R ✯
❀ Ñ⑧Ú Ö x(t + h) − x(t) ❁ Ü❘Ö✇äØá❹Ö☞❂✇×ØÑ à✝Ö✇Ò ❃ y(t + h) − y(t) ❄ ÑÓä❳Ù❏Ý➝Ü❘Ï☎Ð✾ÒÓÒ ❃❆❅❏ÑÓä❘×ØÜ❘ÑÓÞ✏❇➎×❫Ö☞❅❉❈❳Ñ ×Øâ➨Ï❧Ö➤Ð✾Ù 0 Ð✾Ù✏❅❺à➝Ð✾Ü❘ÑåÐ✾Ù✏❂✇Ö 2Dhæ➙Ý➝Ü❳Ð✾ÒÓÒ h > 0 ❊ Ð✾Ù✏❅❺Ù❏Ý➝Ù●❋ Ý❷à✝Ö✇Ü❘ÒåÐ✾á❏á❏ÑÓÙ❏ß❞×❫ÑÓÏ❧Ö✻ÑÓÙ✝×ØÖ✇Ü❇à➝Ð✾ÒÓä✸Ð✾Ü❘Ö◆ÑÓÙ✏❅❏Ö✇á❹Ö✇Ù✏❅❏Ö✇Ù☞×✸Ý✾æ❢Ö❷Ð❍❂Øâ✺Ý✾×❫â❏Ö✇Ü➤Ú
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�✂✁☎✄✝✆✟✞✟✠☛✡✌☞✍✠☛✡✏✎✒✑✔✓✕✠☛✄✝✁✗✖✂✘✚✙✛✑✢✜✤✣✚✁☎✥✧✦★✑✪✩✬✫✢✭ ✕

✰ ✁✄✲ ✡ ✁ τR(u0, u0) = IE[τR | z(0) = (u0, v0)] ✯✁� ✒✌✁☎✡ ✩

τR(u0, v0) =
16R2

Dπ4

∞
∑

m≥1
m ✓✖✔✕✔

∞
∑

n≥1
n ✓✄✔✕✔

sin
(

mπu0

R

)

sin
(

nπv0

R

)

mn(m2 + n2)
.

➾❫➃❩➚

⋄
❜❞❝❢❤✺❿❢❶①③s③❹➟✮③❹➟✻⑩❭❶①③④❿✿③➘t➤⑦↕✈❷⑦➙③④⑥✖➈✉➦Ó➈✬⑦⑧t❞➍④⑦➙➩④❤☞⑥❂⑦↕⑥✖❻✟❿❢❿✿❤☞⑥➅➀❢⑦➭➢✖❻✕➦❢➪➺❤✕⑨❹❶①❤➨⑥❢③❉➛●⑦➙⑥✖⑨➫❿✩③➘t➤⑦↕✈①⑦↕③❩⑥➲✈❷③✤❿❢❶①③❉➩④❤

⑩❭❶①③④❿✿③➘t➤⑦↕✈❷⑦➙③④⑥✖➈❢➦↕➄❩➦

☎ ➓ ✃➠✃ ❁✟✃ ❁✺☎ ➓ ✃ ✆◆✃ ➑✢✳❇➒✢✳ ✃ ✲ ✵✟✞ ✯✝✞
✔ ❤✝✈

x0 + r < y0 ≤ L
➦❂❻☎⑥➹❤✧✙➘⑤❢⑦➙➩❉⑨④↔↕❤✽⑥❩✈✕➛✧⑨❏r➶✈①③❱➩s⑦↕❤✽➛✪✈❷❝❢❤➲➼✧❶❷③❉➛❧⑥❢⑦⑧⑨❹⑥❛❣✤③❹✈①⑦↕③❩⑥➅t✄✂ ⑨❹⑥➅➀✆☎ ⑨❉✈

✈①⑦↕❣✤❤
t = 0

⑦⑧t❞✈①③✡②✝③❩⑥➅t➤⑦⑧➀✉❤✽❶❞✈❷❝➅⑨❹✈☎✈❷❝❢❤✕❿✿③④⑦➙⑥❩✈
(x0, y0)

⑦⑧t❧↔➙③✉②☞⑨❹✈❷❤✽➀❂⑦↕⑥✖✈❷❝❢❤✕⑤❢❿❢❿✿❤✽❶❧✈①❶❷⑦⑧⑨❹⑥❢➍❩↔↕❤❅⑦↕⑥➶❮✮⑦➙➍④⑤➅❶❷❤✕➃
➀✉❤✽↔↕⑦➙❣✤⑦➭✈①❤✽➀❂➇sr✡✈❷❝➅❤❅↔↕⑦➙⑥❢❤✽t

x = 0
➯
y = L

⑨④⑥➅➀
y = x + r

➦◆➧ ➟✸➛✧❤❅⑨❩t❷t❷⑤❢❣✤❤➨✈❷❝➅⑨❹✈❧✈❷❝❢❤❅➇✿③❩⑤❢⑥➅➀❢⑨④❶❷⑦➙❤✽t
x = 0⑨④⑥➅➀

y = L
⑨❹❶①❤❧❶①❤✝➻➅❤➎②➝✈①⑦↕⑥❢➍✬➇✩③❩⑤❢⑥➅➀❢⑨④❶❷⑦➙❤✽t◆⑦➙⑥➲❮✮⑦➙➍④⑤➅❶❷❤✟➃➅➯④✈❷❝➅❤☞⑥✡➛✱❤❺t❷❤☞❤☎✈❷❝➅⑨❹✈

TL,r(x0, y0)
⑦⑧t❽⑥❢③❹✈①❝❢⑦↕⑥➅➍✕➇❢⑤❢✈

✈①❝❢❤✬❤✝➢✉❿✿❤➎②➝✈❷❤➎➀✖✈❷⑦➙❣➫❤❥⑥❢❤☞❤➎➀✉❤✽➀✖➟❇③❩❶☎✈①❝❢❤✕✈✇➛✱③④➳ ➀✉⑦➙❣✤❤☞⑥➅t❷⑦➙③④⑥➅⑨④↔❳➼✧❶①③❏➛❧⑥❢⑦⑧⑨❹⑥❱❣➫③④✈❷⑦➙③④⑥ {(x(t), y(t)), t ≥ 0} ✈①③❝❢⑦↕✈❳✈❷❝❢❤✱➀✉⑦⑧⑨❹➍❩③④⑥➅⑨④↔❹③❹➟s✈❷❝❢❤◆✈①❶❷⑦⑧⑨❹⑥❢➍❩↔↕❤✟➾❇⑦Ø➦ ❤❩➦➠✈①③☎❝❢⑦↕✈❳✈❷❝❢❤❽↔➙⑦↕⑥➅❤
y = x+r

➚➵➍④⑦➙➩④❤☞⑥➨✈①❝➅⑨❉✈
(x(0), y(0)) = (x0, y0)

➦
➾❫❜❞❝❢❤✕❿❢❶①③✉②✝❤➎t❷t {(x(t), y(t)), t ≥ 0} ⑦⑧t✟⑨➫✈✇➛✱③④➳ ➀✉⑦➙❣✤❤☞⑥➅t❷⑦➙③④⑥➅⑨④↔➠➼✧❶①③❏➛❧⑥➅⑦➙⑨④⑥❂❣✤③❹✈❷⑦➙③④⑥➶t➤⑦➙⑥➅②☞❤ {x(t), t ≥ 0}⑨④⑥➅➀ {y(t), t ≥ 0} ⑨❹❶①❤➨➇✿③④✈❷❝❂⑦➙⑥➅➀✉❤✽❿✿❤☞⑥➅➀✉❤✽⑥❩✈❺➼✧❶❷③❉➛❧⑥❢⑦⑧⑨❹⑥✍❣➫③④✈❷⑦➙③④⑥➅t✽➦Ó➚➼✱r➺⑤➅t➤⑦➙⑥❢➍✖✈①❝❢❤➲②✝↔⑧⑨④t①t➤⑦⑧②☞⑨④↔✻❣✤❤☞✈❷❝❢③✉➀ ③❹➟❞⑦➙❣✤⑨④➍④❤➎t❁➾❘t❷❤☞❤✡❤④➦ ➍➅➦ ☛ ✝✉➯✸❿➠➦✞✝❢➄✞✌ ➚✝➯❳⑦↕✈❥②☞⑨④⑥❛➇✿❤➲t➤❤✽❤☞⑥❛✈❷❝✩⑨❉✈✕✈❷❝❢⑦⑧t
✈①⑦↕❣✤❤➨⑦⑧t✱⑦↕✈①t❷❤☞↔↕➟✮⑦➙➀❢❤☞⑥❩✈①⑦➙②✽⑨❹↔✿✈❷③❥✈❷❝❢❤✺❤✝➢✉❿✿❤✽②➝✈①❤✽➀✡✈❷⑦➙❣➫❤✺⑥❢❤☞❤➎➀✉❤✽➀✡✈❷③➫❝❢⑦➭✈❞✈❷❝❢❤➨➇✿③❩⑤❢⑥➅➀❢⑨④❶❷r✤③❹➟➠✈①❝❢❤✺t✗✙❩⑤✩⑨❹❶①❤✟③❹➟✮t❷⑦↕➞✽❤
√

2(L− r)
➇➘r √

2(L− r)
t❷❝❢③❏➛❧⑥➲⑦➙⑥❂❮✸⑦↕➍❩⑤❢❶❷❤➨➊❥➍④⑦➙➩④❤☞⑥✡✈①❝➅⑨❉✈

(x(0), y(0)) = (x0, y0)
➦❭❜❞❝➅⑦➙t✧⑦⑧t❞➀✉⑤❢❤❺✈❷③

✈①❝❢❤❅❶❷❤☞➻➅❤✽②✝✈❷⑦➙⑥❢➍✤➇✩③❩⑤❢⑥➅➀❢⑨④❶❷⑦➙❤✽t❧⑨❉✈
x = 0

⑨❹⑥✩➀
y = L

⑨④②➝✈①⑦➙⑥❢➍❁⑨④t❞❣✤⑦↕❶①❶❷③❩❶①t✽➦
➧➥⑥ ③❩❶①➀❢❤☞❶➫✈①③ ⑨❹❿❢❿❢↔➙r ✈❷❝❢❤➶❶❷❤➎t➤⑤➅↔➭✈✡⑦↕⑥ ⑩❭❶①③④❿✿③➘t➤⑦↕✈①⑦↕③❩⑥ ➈✉➦Ó➈✉➯✱➛✧❤✖⑥➅❤☞❤✽➀ ✈①③➹②☞③④❣✤❿❢⑤✉✈①❤✖✈❷❝❢❤➽②✝③s③④❶✾➀✉⑦➙⑥➅⑨❉✈①❤✽t

(x′
0, y

′
0)
③④➟

(x0, y0)
⑦↕⑥❱⑨➫⑥❢❤✽➛❚t➤r✉t➤✈❷❤✽❣✚③④➟✻②✝③s③④❶✾➀✉⑦➙⑥➅⑨❉✈①❤✽t

(x′, y′)
➀✉❤✽❿❢⑦➙②✝✈❷❤➎➀✍⑦➙⑥❱❮✮⑦➙➍④⑤➅❶❷❤✺➊❁⑨❹⑥✩➀✍➛❧❝❢⑦➙②✾❝✖⑦➙t

❶①③❹✈✾⑨❉✈❷❤➎➀
45o ➟❇❶①③④❣✚✈①❝❢❤✕③④❶①⑦➙➍④⑦➙⑥➅⑨❹↔➠②✝③s③❩❶①➀❢⑦↕⑥➅⑨❹✈❷❤❅t➤r✉t➤✈❷❤✽❣❂➦✱➪➺❤❅➡➅⑥➅➀

(x′
0, y

′
0) = ((y0 + x0 − r)/

√
2
⑨❹⑥✩➀

(y0 − x0 − r)/
√

2)
⑨❹⑥➅➀✍➛✱❤❅❣❁⑨➎r✍②✝③④⑥✩②✝↔➙⑤➅➀✉❤④➯✉➟❇❶❷③❩❣ ⑩❭❶①③④❿✿③➘t➤⑦↕✈❷⑦➙③④⑥✖➈❢➦ ➈❢➯s✈❷❝➅⑨❹✈

TL,r(x0, y0) = τ√2(L−r)

(

(y0 + x0 − r)/
√

2, (y0 − x0 − r)/
√

2
)

.
➾❘➊➘➚

➼✧r✡⑤✩t➤⑦➙⑥❢➍❱➾❘➃➘➚✧⑦↕⑥❂✈❷❝❢❤❅❶➎➦ ❝❳➦ t✽➦✻③④➟❞➾❇➊➘➚✧➛✱❤✕t➤❤✽❤➨✈❷❝➅⑨❹✈✬➾❫➈④➚✧❝❢③❩↔➙➀❢t✽➦

❻☎⑥✬❤✝➢❢⑨④❣➫❿❢↔➙❤❽③❹➟❢✈❷❝❢❤✱❤☞➢s❿✿❤➎②➝✈①❤✽➀✺✈①❶①⑨④⑥➅t➤➟❇❤☞❶❳✈❷⑦➙❣➫❤
TL,r(x0, y0)

⑦⑧t✸➀✉⑦➙t❷❿❢↔⑧⑨➎r④❤➎➀❅⑦↕⑥❥❮✸⑦↕➍❩⑤❢❶❷❤ ✓✬➾❫t➤❤✽❤✧♣s❤➎②➝✈①⑦↕③❩⑥
➊➫➟❇③❩❶☎②✝③④❣✤❣✤❤☞⑥➘✈①t✾➚➝➦

➪➺❤✍②☞③④⑥➅②☞↔↕⑤➅➀❢❤❁✈❷❝❢⑦⑧t❥t❷❤✽②✝✈❷⑦➙③④⑥➹➇➘r❛➍❩⑦↕➩s⑦➙⑥❢➍❱✈❷❝❢❤➲❤☞➢✉❿✩❤➎②➝✈①❤✽➀❛✈①❶①⑨④⑥➅t➤➟❇❤☞❶✕✈❷⑦➙❣✤❤➲➛❧❝❢❤☞⑥ ➇✿③❹✈①❝➹❣✤③④➇➅⑦↕↔➙❤✽t❥⑨❹❶①❤
⑤❢⑥❢⑦↕➟❇③④❶①❣✤↔➙r✍➀✉⑦⑧t✇✈①❶❷⑦➙➇❢⑤✉✈①❤✽➀❂③❉➩④❤☞❶❞✈①❝❢❤✬t➤❤☞➍❩❣✤❤☞⑥❩✈

[0, L]
⑨❹✈❧✈❷⑦➙❣➫❤

t = 0
➦◆➪❛❤✕➛❧⑦↕↔➙↔❳t❷❤☞❤❅⑦➙⑥❂✈❷❝➅❤❅⑥❢❤☞➢s✈✟t❷❤✽②➝✈①⑦↕③❩⑥

✈①❝➅⑨❉✈➨✈❷❝➅⑦➙t✺②☞⑨❩t➤❤➫②✝③❩❶❷❶①❤✽t❷❿✿③④⑥➅➀❢t☎✈❷③➲✈①❝❢❤✤t➤⑦↕✈❷⑤✩⑨❉✈❷⑦➙③④⑥➽➛❧❝➅❤☞❶①❤✬➇✿③④✈❷❝❛➼✱❶①③❉➛❧⑥❢⑦➙⑨④⑥❱❣✤③④✈❷⑦➙③④⑥➅t✟✂✢⑨❹⑥✩➀✠☎✢⑨④❶❷❤❥⑦↕⑥
t➤✈❷❤➎⑨④➀✉r➘➳➥t✇✈✾⑨❉✈❷❤✺⑨❹✈❞✈①⑦↕❣✤❤

t = 0
➦

❉✻❉ Ù✪❊●❋✕❍❏■✕■



✝ ✖ ✄ ✥ ✁ ✆✪✡✄✂✆☎ ✩ ✑✢✁☎✡❂✁✞✝ ✁☎✄ ✥✟✂ ✣✛✆✟✠☛✡

Reflecting
boundary

Absorbing
boundary

(x ,yo o )

Reflecting
boundary

Reflecting
boundary

r

L

0

r

yo

xo L

❮✸⑦➙➍④⑤❢❶①❤❁➃ �✺➪ ❝➅❤☞⑥ ❣✤③④➇❢⑦➙↔↕❤➎t
X

⑨④⑥➅➀
Y

⑨④❶❷❤✤⑨❹✈
⑨✬➀✉⑦⑧t✇✈✾⑨❹⑥➅②☞❤

r
③❹➟➠❤✽⑨❩②①❝✡③❹✈①❝❢❤☞❶❽✈❷❝❢❤✽r✤⑨④❶❷❤☎↔➙③✉②☞⑨❹✈❷❤➎➀

③❩⑥✍✈❷❝❢❤❅↔➙⑦➙⑥❢❤
y = x + r

➾
y0 > x0 + r

➚✝➦

Absorbing
boundary

Absorbing
boundary

Absorbing
boundary

Absorbing
boundary

L

0

L

�✂✁☎✄✝✆✟✞✠✄☛✡

✁☞✄

✁☎✌✄✎✍✑✏✓✒✕✔✗✖✟✒✂✘✎✙✚ ✛

✁

✞✠✄

✞✞

✞✜✌✄✎✍✑✏✢✒✣✘✜✖✟✒✂✘✎✙✚ ✛ ✤

✁✥✌✞✎✌

❮✸⑦↕➍❩⑤❢❶❷❤❧➊ �✸♣✉⑦↕⑥➅②☞❤❧❶①❤✝➻➅❤➎②➝✈❷⑦➙⑥❢➍✺➇✩⑨❹❶①❶❷⑦➙❤☞❶✾t✻⑨❉✈
x = 0⑨❹⑥➅➀

y = L
⑨④②➝✈✬⑨④t✺❣✤⑦➙❶❷❶①③④❶✾t☞➯➵✈❷❝❢❤❁❣✤❤✝✈①❝❢③✉➀❛③❹➟

⑦↕❣❁⑨④➍④❤✽t❭✈❷⑤➅❶❷⑥➅t◆✈❷❝❢❤❺❿❢❶❷③❩➇❢↔↕❤✽❣✪⑦➙⑥❩✈①③✬⑨✬➈ ✢ ➼✱❶①③❉➛❞➳
⑥❢⑦⑧⑨❹⑥✬❣✤③❹✈①⑦↕③❩⑥✬⑦↕⑥✩t➤⑦⑧➀✉❤✱➟❇③④⑤❢❶❭⑨❹➇➅t❷③④❶①➇❢⑦➙⑥❢➍☎➇➅⑨④❶❷❶①⑦➙❤☞❶✾t☞➦

☎ ➓ ✃✝✆❭✃ ➑❏✳ ➒✢✳ ✃ ✲ ✵✟✞ ✾ ✠☞☛✍✌ ✆◆➷ →❹➒ ➷ ❐ ➒☞➓❉➔ ✲ ➑ ❁Ø➷ ➓♦➒✢✳ ✒ ➷ ❁ ✃ ➓ ✏ ✲ ✳ ❁ ✃ ➓ ✒ ✱ ➬ ❐✻✳❘➑☞➒✽➓✟✳❇➐✓✏❳➒ ➷ ❐ ✳ ✲ ✳ ➒✢✳❇➔✚✱
✆◆✃ ➑✢✳ ➒❏✳ ✃ ✲ ➑✳✎ ✞

✖✤✭✬✭✶✬ ✁ ✁✂✥✖✒❅✆✟✥★✓ ✑✪✥✖✒ ✁ ✑ ✓ ✠☛✄✝✁ ✭ X
✆✪✡❂✘

Y
✆✟✩ ✁✍✬❅✡ ✠ ✆ ✑✟✩ ✁ ✄ ✞ ✘✟✠ ✭✕✥ ✩✕✠✧✓✶✬❅✥ ✁ ✘ ✑✔✝✟✁ ✩

[0, L]
✆✪✥✸✥ ✠ ✁ ✁ t = 0

✆✪✡❂✘

0 ≤ r ≤ L ✯ � ✒✌✁ ✁✧✦✾✤❀✁ ✜☎✥ ✁✬✘ ✥ ✩ ✆✟✡●✭✝✆ ✁ ✩ ✥ ✠ ✁ ✁ IE[TL,r]
✠ ✭

IE[TL,r] =
128(L − r)4

Dπ6 L2
C0,

➾Ø➂④➚

✦✹✒✌✁☎✩ ✁
C0

✠ ✭✚✆ ✜✬✑✟✡❀✭✕✥ ✆✟✡ ✥✸☞ ✠✮✝ ✁☎✡ ✓✕✞
C0 =

∑∞
m=1
m ✓✖✔✕✔

∑∞
n=1
n ✓✖✔✕✔

1
m2n2(m2+n2) ≈ 0.52792664. ⋄

☎ ➓ ✃➠✃ ❁ ✞ ♣✉⑦↕⑥➅②☞❤ ✂♦⑨④⑥➅➀ ☎ ⑨❹❶①❤➨⑤❢⑥❢⑦↕➟❇③④❶①❣✤↔↕r✍➀✉⑦⑧t✇✈①❶❷⑦➙➇❢⑤✉✈①❤✽➀✖⑨❉✈
t = 0

➯❢➛✱❤❅❝➅⑨➎➩④❤

IE[TL,r] =
1

L2

∫ L

0

∫ L

0

IE[TL,r |x(0) = x0, y(0) = y0]dx0dy0

=
1

L2

∫

x0+r<y0≤L

TL,r(x0, y0) dx0dy0 +
1

L2

∫

y0+r<x0≤L

TL,r(y0, x0) dx0dy0

=
2

L2

∫

x0+r<y0≤L

TL,r(y0, x0) dx0dy0

=
64(L − r)2

Dπ4L2

∫

x0+r<y0≤L

h(y0+x0−r, y0−x0−r)dx0 dy0.

✬✮✭✸❉✯✬✮✰



�✂✁☎✄✝✆✟✞✟✠☛✡✌☞✍✠☛✡✏✎✒✑✔✓✕✠☛✄✝✁✗✖✂✘✚✙✛✑✢✜✤✣✚✁☎✥✧✦★✑✪✩✬✫✢✭ ➌

➛❧❝❢❤✽❶❷❤

h(u, v) :=

∞
∑

m≥1
m � ✁✂✁

∞
∑

n≥1
n � ✁✄✁

sin(muβ) sin(nvβ)

mn(m2 + n2)
, β :=

π√
2(L − r)

.

✢❺❤✝➡➅⑥❢❤❅✈❷❝❢❤❅⑥❢❤✽➛ ➩❉⑨④❶❷⑦⑧⑨❹➇❢↔➙❤✽t
u = (y0 + x0 − r)/

√
2
⑨④⑥➅➀

v = (y0 − x0 − r)/
√

2
➦❭➪❛❤✺➡➅⑥➅➀

IE[TL,r] =
64(L − r)2

Dπ4L2

[

∫
L−r√

2

u=0

∫ u

v=0

h(u, v)|J(u, v)| dv du

+

∫

√
2(L−r)

u= L−r√
2

∫

√
2(L−r)−u

v=0

h(u, v)|J(u, v)| dv du

]

➾ ✓❩➚

➛❧❝❢❤✽❶❷❤ |J(u, v)| ➾✆☎ 1
➚✧⑦➙t❞✈❷❝➅❤❅➀❢❤✝✈❷❤✽❶❷❣✤⑦➙⑥➅⑨❹⑥➘✈❧③④➟✮✈❷❝❢❤✞✝❩⑨④②☞③④➇❢⑦⑧⑨❹⑥✍❣✤⑨❹✈❷❶①⑦↕➢

J(u, v) =











dx

du

dx

dv

dy

du

dy

dv











=











1√
2

− 1√
2

1√
2

1√
2











.

➧ ✈✖❶①❤☞❣❁⑨④⑦↕⑥➅t✍✈❷③ ❤☞➩❉⑨④↔↕⑤✩⑨❉✈❷❤➽✈①❝❢❤➺✈✇➛✱③ ➀✉③④⑤➅➇❢↔↕❤❛⑦➙⑥❩✈①❤☞➍④❶✾⑨❹↔⑧t✍⑦↕⑥ ➾ ✓❩➚✝➦ ➼✧r ❣✤⑨④➜s⑦↕⑥❢➍ ⑤✩t➤❤❛③❹➟✬✈❷❝❢❤ ⑦➙➀❢❤☞⑥❩✈①⑦➭✈✇r
h(u, v) = h(

√
2(L−r)−u, v)

➛✱❤❅t❷❤☞❤➨✈①❝➅⑨❉✈☎➇✿③④✈❷❝❂⑦➙⑥❩✈①❤☞➍❩❶①⑨④↔➙t✧⑦➙⑥✍✈①❝❢❤❅❶➎➦ ❝➠➦ t✽➦✻③❹➟❞➾ ✓❩➚❞⑨❹❶①❤➨❤✧✙➘⑤➅⑨④↔Ø➯❢t➤⑦➙⑥➅②✝❤

∫

√
2(L−r)

u= L−r√
2

∫

√
2(L−r)−u

v=0

h(u, v)dvdu =

∫

√
2(L−r)

u= L−r√
2

∫

√
2(L−r)−u

v=0

h(
√

2(L−r)−u, v)dvdu =

∫
L−r√

2

u=0

∫ u

v=0

h(u, v)dvdu.

❜❞❝❢❤✺➡➅❶✾t✇✈❧⑦➙⑥❩✈①❤☞➍❩❶①⑨④↔➵②✽⑨❹⑥❂➇✿❤✺❤✽➩❉⑨❹↔➙⑤➅⑨❹✈❷❤✽➀✍➇➘r➲⑤➅t❷⑦↕⑥➅➍➫✈❷❝❢❤✕t❷rs❣➫❣✤❤☞✈❷❶①r
h(u, v) = h(v, u)

➦◆❜❞❝❢⑦⑧t❧➍④⑦➙➩④❤✽t

∫
L−r√

2

u=0

∫ u

v=0

h(u, v)dvdu =

∫
L−r√

2

u=0

∫ u

v=0

h(v, u)dvdu =

∫
L−r√

2

v=0

∫
L−r√

2

u=v

h(v, u)dudv

=

∫
L−r√

2

u=0

∫
L−r√

2

v=u

h(u, v)dvdu.

❒✟❤☞⑥➅②✝❤❩➯
∫

L−r√
2

u=0

∫ u

v=0

h(u, v)dvdu =
1

2

∫
L−r√

2

u=0

∫
L−r√

2

v=0

h(u, v)dvdu

t❷③❥✈①❝➅⑨❉✈

IE[TL,r] =
64(L − r)2

Dπ4L2

∫
L−r√

2

0

∫
L−r√

2

0

h(u, v)dvdu.
➾ ✕④➚

❉✻❉ Ù✪❊●❋✕❍❏■✕■
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0 (I−2)L IL2LL (I−1)L

❮✮⑦➙➍④⑤➅❶❷❤✕➂ �◆❻ ②①❝➅⑨④⑦↕⑥❂③④➟✸❶❷❤✽↔➙⑨❏rs⑦➙⑥❢➍❥❣✤③❩➇❢⑦↕↔➙❤✽t✽➦

♣s⑦➙⑥➅②✝❤ ✈❷❝❢❤ ➀❢③④⑤❢➇❢↔➙❤ t➤❤✽❶❷⑦➙❤✽t➆⑦↕⑥
h(u, v)

⑨❹❶①❤➋⑤➅⑥❢⑦➭➟❇③❩❶❷❣✤↔➙r ➇✿③④⑤❢⑥➅➀❢❤✽➀ ⑦↕⑥ ✈①❝❢❤ ➩❉⑨④❶❷⑦⑧⑨❹➇➅↔↕❤➎t
u, v ∈ [0,

√
2(L − r)]

➾❇⑦↕✈✾t✟⑨❹➇✩t➤③❩↔↕⑤✉✈①❤❅➩❉⑨④↔↕⑤❢❤✕⑦➙t☎➇✿③④⑤➅⑥➅➀✉❤✽➀❂➟❇❶①③④❣✂⑨④➇✿③❏➩④❤❅➇➘r
(
∑

k≥1 1/k2)2 = π4/36
➚➝➯

➛✱❤❞❣❁⑨➎r✕⑦➙⑥➘➩④③❩➜④❤❽✈①❝❢❤❞➇✿③❩⑤❢⑥➅➀✉❤✽➀➫②☞③④⑥➘➩④❤✽❶❷➍❩❤☞⑥➅②☞❤◆✈①❝❢❤☞③❩❶❷❤✽❣ ✈①③➨⑦➙⑥❩✈①❤☞❶✾②①❝➅⑨④⑥❢➍④❤✱✈❷❝➅❤❞⑦↕⑥➘✈❷❤✽➍④❶✾⑨❹↔✉⑨❹⑥➅➀➫t➤⑤❢❣✤❣❁⑨❉✈①⑦↕③❩⑥
t❷⑦↕➍❩⑥➅t❞⑦↕⑥➹➾ ✕④➚➝➦◆❜❞❝❢⑦⑧t❧➍④⑦➙➩④❤✽t

IE[TL,r] =
64(L − r)2

Dπ4L2

∞
∑

m≥1
m � ✁✄✁

∞
∑

n≥1
n � ✁✄✁

1

mn(m2 + n2)

∫
L−r√

2

u=0

sin(muβ)du

∫
L−r√

2

v=0

sin(nvβ)dv

=
128(L − r)4

Dπ6L2

∞
∑

m≥1
m � ✁✄✁

∞
∑

n≥1
n � ✁✄✁

1

m2n2(m2 + n2)
.

❜❞❝❢❤❅↔⑧⑨④t➤✈❧↔↕⑦➙⑥❢❤✺➟❇③④↔➙↔↕③❉➛☎t❞➇✿❤✽②☞⑨④⑤➅t❷❤
cos( jπ

2 ) = 0
➟ ③❩❶

j
③✉➀❢➀➵➦

� ✗ ✣ ✳ ✆✬✠✽☛✑✒✂✁ ✫✸✁☎✄✝✆✟✞✡✠☞☛✍✌ ☛ ✒✕✔✖✠☞✄✝✁❧✯

➪❛❤❱②✝③④⑥✩t➤⑦⑧➀✉❤☞❶➫✈❷❝❢❤❱t❷⑦➭✈①⑤➅⑨❉✈①⑦↕③❩⑥ ➀❢❤☞❿❢⑦⑧②➝✈①❤✽➀ ⑦↕⑥ ❮✸⑦↕➍❩⑤❢❶❷❤❱➂❢➦ ❜❞❝❢❤☞❶①❤❂⑨④❶❷❤
I
⑨❩➀❏❸➤⑨④②☞❤☞⑥❩✈✡t➤❤✽➍④❣✤❤☞⑥➘✈①t✽➯◆❤➎⑨④②✾❝❑③④➟

↔➙❤☞⑥❢➍④✈❷❝
L
➯✉⑨④⑥➅➀❁✈❷❝➅❤☞❶①❤❺⑦➙t❞⑨❥t➤⑦➙⑥❢➍❩↔↕❤❺❣✤③④➇❢⑦➙↔➙❤❺❿✿❤☞❶❞t❷❤☞➍❩❣✤❤☞⑥❩✈➎➦✻➪➺❤✺➀✉❤✽⑥❢③❹✈①❤❺➇➘r

Xi
✈①❝❢❤➨❣➫③❩➇❢⑦➙↔↕❤➨⑦↕⑥❂t➤❤✽➍④❣✤❤☞⑥➘✈

i
➦ ✔ ❤✝✈

0 ≤ xi(t) ≤ L
➾
i = 1, . . . , I

➚✱➇✿❤➨✈①❝❢❤ ✩ ✁☎✄✝✆✪✥✧✠✮✝✟✁❞❿✿③➘t➤⑦↕✈❷⑦➙③④⑥❂③❹➟❳✈①❝❢❤
i
➳❫✈①❝❂❣✤③④➇❢⑦➙↔↕❤✺⑦➙⑥❂⑦↕✈①t❧t❷❤☞➍❩❣➫❤✽⑥❩✈➎➦

➪❛❤➫⑨④t①t➤⑤❢❣✤❤✕✈❷❝➅⑨❹✈✟✈①❝❢❤❥❿❢❶①③✉②✝❤✽t①t
Xi = {xi(t), t ≥ 0} ⑦⑧t❺⑨➲➼✧❶①③❏➛❧⑥❢⑦⑧⑨❹⑥❱❣✤③❹✈①⑦↕③❩⑥❱➛❧⑦↕✈❷❝➽➞☞❤✽❶❷③✍➀✉❶❷⑦↕➟ ✈✺⑨❹⑥➅➀➀✉⑦✧✑◗⑤➅t➤⑦➙③④⑥ ②☞③s❤✍✦✡②✝⑦➙❤☞⑥➘✈

D
⑨❹⑥✩➀➶✈①❝➅⑨❉✈

X1, . . . ,XI
⑨❹❶①❤❥❣✬⑤❢✈❷⑤➅⑨④↔↕↔➙r➶⑦➙⑥➅➀✉❤✽❿✿❤☞⑥➅➀✉❤✽⑥❩✈✕❿❢❶①③✉②✝❤➎t❷t❷❤✽t✽➦ ✔ ⑨④t➤✈✽➯➠➛✱❤

⑨❩t❷t❷⑤❢❣✤❤❺✈①❝➅⑨❉✈☎❤➎⑨④②①❝✖t❷❤☞➍❩❣➫❤✽⑥❩✈❧❝✩⑨④t❞❶①❤✝➻➅❤➎②➝✈❷⑦➙⑥❢➍✤➇✿③④⑤❢⑥✩➀❢⑨❹❶①⑦↕❤➎t❞⑨❉✈❧✈❷❝❢❤❅❤✽⑥➅➀❢t✽➦
✔ ❤✝✈

T1 = inf{t ≥ 0 : x1(t) + r ≥ L + x2(t)}
➇✿❤✕✈①❝❢❤✬✈❷❶✾⑨❹⑥✩t✇➟❇❤☞❶✟✈❷⑦➙❣✤❤❥➇✿❤✝✈✇➛✱❤☞❤✽⑥➶❣✤③❩➇❢⑦↕↔➙❤✽t

X1
⑨④⑥➅➀

X2
➯s✈①❝➅⑨❉✈❧⑦⑧t

T1
⑦⑧t✱✈❷❝➅❤❺➡➅❶✾t➤✈✧✈❷⑦➙❣✤❤➨➛❧❝➅❤☞⑥

X1
⑨❹⑥➅➀

X2
⑨④❶❷❤❺↔➙③✉②✽⑨❉✈①❤✽➀➲⑨❹✈❧⑨➫➀✉⑦➙t➤✈①⑨④⑥➅②✝❤➨↔➙❤✽t①t✱✈❷❝➅⑨④⑥✍③❩❶✧❤✧✙➘⑤➅⑨④↔

✈①③
r
➟❇❶❷③❩❣ ❤➎⑨④②✾❝➺③④✈❷❝❢❤✽❶✽➦❁❜❞❝➅❤✤❶①❤☞↔⑧⑨➎r❱✈❷⑦➙❣✤❤✽t

T2 ≤ · · · ≤ TI−1
➇✿❤☞✈➥➛✱❤✽❤☞⑥ ❣✤③④➇❢⑦➙↔↕❤➎t

X2
⑨④⑥➅➀

X3
➯
. . .
➯

XI−1
⑨❹⑥➅➀

XI
➯✉❶①❤✽t❷❿✿❤✽②✝✈❷⑦➙➩④❤☞↔➙r④➯❢⑨❹❶①❤➨❶①❤✽②✝⑤➅❶①t❷⑦↕➩④❤✽↔↕r✡➀❢❤✝➡➅⑥❢❤➎➀❂➇➘r

Ti = inf{t ≥ Ti−1 : xi(t) + r ≥ L + xi+1(t)}, i = 2, . . . , I − 1.

❦❺⑤❢❶❧③❩➇s❸✇❤➎②➝✈❷⑦➙➩④❤✺⑦➙⑥❂✈❷❝❢⑦⑧t☎t➤❤➎②➝✈①⑦↕③❩⑥✍⑦⑧t❞✈❷③❁②☞③④❣✤❿❢⑤✉✈①❤
IE[Ti]

➟❇③❩❶
i = 1, . . . , I − 1

➦
❜❞❝❢❶❷③❩⑤❢➍④❝❢③❩⑤✉✈☎✈❷❝❢⑦⑧t❺t❷❤✽②✝✈❷⑦➙③④⑥❱➛✧❤✬⑨❩t❷t❷⑤❢❣✤❤❅✈❷❝✩⑨❉✈

L ≤ r ≤ 2L
➦✟❜❞❝❢⑦⑧t❺⑨❩t❷t❷⑤❢❣✤❿✉✈❷⑦➙③④⑥❱⑦⑧t✟❣❁⑨④➀✉❤✕➟❇③④❶✟✈❷❝➅❤

t①⑨❹➜④❤✱③❹➟✩❣✤⑨❹✈❷❝❢❤✽❣❁⑨❉✈❷⑦⑧②☞⑨④↔❩✈①❶①⑨❩②➝✈①⑨④➇❢⑦➙↔↕⑦↕✈✇r④➦❳➧➥⑥✩➀✉❤☞❤➎➀➵➯④⑨☎➟❇❤☞➛ t❷❤✽②☞③④⑥➅➀❢t✮③④➟➅❶①❤✝➻➅❤➎②➝✈❷⑦➙③④⑥✬➛❧⑦➙↔➙↔✉②✝③❩⑥➘➩s⑦↕⑥✩②✝❤❽✈①❝❢❤✧❶①❤✽⑨④➀✉❤✽❶
✈①❝➅⑨❉✈✬➛❧❝➅❤☞⑥

L ≤ r ≤ 2L
⑨④⑥➅➀

(x(0), y(0)) = (x0, y0)
✈①❝❢❤❁✈①❶①⑨④⑥➅t➤➟❇❤☞❶❅✈❷⑦➙❣✤❤✡⑥➅❤☞❤✽➀✉❤➎➀❛✈❷③❱✈①❶①⑨④⑥➅t✇➟❇❤✽❶✬⑨

❣✤❤✽t①t①⑨❹➍④❤❭➇✿❤✝✈✇➛✱❤☞❤✽⑥✺✈✇➛✱③✟⑨④➀❏❸➤⑨❩②✝❤☞⑥➘✈✮t➤❤✽➍④❣✤❤☞⑥➘✈①t➠⑦➙t➠✈❷❝❢❤✱t❷⑨④❣✤❤◆⑨④t
T2L,r(x0, y0+L)

➯➎✈❷❝❢❤❽❤✝➢✉❿✿❤✽②✝✈❷❤➎➀➨✈❷❶✾⑨❹⑥➅t➤➟❇❤☞❶
✈①⑦↕❣✤❤✡③④➇✉✈✾⑨❹⑦➙⑥❢❤✽➀❛⑦↕⑥❑♣s❤✽②✝✈❷⑦➙③④⑥ ➈✍➟❇③④❶✬⑨❱t➤❤✽➍④❣✤❤☞⑥➘✈❅③④➟❞↔↕❤✽⑥❢➍❹✈①❝

2L
➾❘➛❧⑦➭✈①❝❛✈①❝❢❤✡➍④⑦➙➩④❤☞⑥❛⑦➙⑥❢⑦↕✈❷⑦⑧⑨❹↔✱②✝③❩⑥➅➀✉⑦↕✈❷⑦➙③④⑥➅t✾➚➝➦

✬✮✭✸❉✯✬✮✰



�✂✁☎✄✝✆✟✞✟✠☛✡✌☞✍✠☛✡✏✎✒✑✔✓✕✠☛✄✝✁✗✖✂✘✚✙✛✑✢✜✤✣✚✁☎✥✧✦★✑✪✩✬✫✢✭ ➄④➄

❜❞❝❢⑦⑧t➨③④➇✩t➤❤✽❶❷➩❹⑨❉✈❷⑦➙③④⑥➽⑨❹↔➙↔➙③❏➛☎t❺⑤➅t❺✈①③✍➡➅⑥➅➀➺⑨❹✈✺③④⑥➅②✝❤❥✈❷❝➅❤➫❤✝➢✉❿✿❤➎②➝✈❷❤➎➀➶✈❷❶✾⑨❹⑥➅t➤➟❇❤☞❶❺✈①⑦↕❣✤❤✤➇✩❤☞✈➥➛✧❤☞❤☞⑥❛❣➫③❩➇❢⑦➙↔↕❤➎t
X1⑨④⑥➅➀

X2
➟❇③❩❶☎⑨❹⑥➘r➲⑦↕⑥➅⑦➭✈①⑦➙⑨④↔❳②✝③④⑥➅➀❢⑦➭✈①⑦↕③❩⑥➅t

x1(0)
⑨❹⑥✩➀

x2(0)
➦◆➪➺❤✺➡➅⑥➅➀

IE[T1 |x1(0) = x, x2(0) = y] = IE[T2L,r(x, y + L)].
➾ ✝➘➚

❜❞❝❢❤➨➀✉⑦✧✦✡②✝⑤❢↔↕✈✇r❁⑨④❶❷⑦⑧t❷❤✽t◆➛❧❝❢❤✽⑥✡✈❷❶①rs⑦↕⑥❢➍✕✈①③✕➡✩⑥➅➀❁✈❷❝❢❤➨❤✝➢✉❿✿❤✽②✝✈❷❤✽➀❁✈❷❶✾⑨❹⑥✩t✇➟❇❤✽❶◆✈①⑦↕❣✤❤➨➇✿❤✝✈✇➛✱❤☞❤☞⑥➲❣✤③❩➇❢⑦↕↔➙❤✽t
Xi

⑨④⑥➅➀
Xi+1

➟❇③④❶
i = 2, . . . , I − 1

➯✿t❷⑦➙⑥➅②✝❤❅✈①❝❢❤✬❿✿③➘t➤⑦↕✈❷⑦➙③④⑥❱③❹➟
Xi

➛❧❝❢❤✽⑥✖✈①❝❢❤✕✈❷❶✾⑨❹⑥✩t✇➟❇❤✽❶☎➇✿❤☞✈➥➛✱❤✽❤☞⑥
Xi−1

⑨④⑥➅➀
Xi✈✾⑨❹➜④❤✽t❞❿❢↔⑧⑨④②☞❤✺⑦➙t❧⑥❢③❹✈☎⑤❢⑥❢⑦↕➟❇③④❶①❣ ⑦↕⑥

[iL, (i + 1)L]
➦

❜❳③✤③❉➩④❤☞❶✾②✝③④❣✤❤❺✈❷❝❢⑦⑧t☎➀✉⑦✧✦❁②☞⑤❢↔➭✈✇r❩➯❢➛✱❤❅⑨❩t❷t❷⑤❢❣✤❤➨✈❷❝➅⑨❹✈❞✈①❝❢❤✕➼✱❶①③❉➛❧⑥❢⑦➙⑨④⑥➲❣✤③④✈❷⑦➙③④⑥➅t
X1, . . . ,XI

⑨④❶❷❤✺⑨④↔↕↔➠⑦↕⑥
t➤✈❷❤➎⑨④➀✉r➘➳➥t✇✈✾⑨❉✈❷❤➲⑨❹✈✬✈❷⑦➙❣✤❤

t = 0
➦➺❜❞❝❢⑦⑧t➫⑨④t①t➤⑤❢❣✤❿✉✈①⑦↕③❩⑥➹⑦➙❣✤❿❢↔↕⑦➙❤✽t✽➯ �❂⑦↕⑥❑❿➅⑨❹❶❷✈❷⑦⑧②✝⑤❢↔⑧⑨❹❶➎➯✮✈①❝➅⑨❉✈❥✈❷❝❢❤✍❿✿③❩t❷⑦↕✈❷⑦➙③④⑥➹③④➟

❤➎⑨④②✾❝✖❣➫③❩➇❢⑦➙↔↕❤✬⑨❹✈❧✈①⑦↕❣✤❤
t = 0

⑦➙t☎⑤➅⑥❢⑦➭➟❇③❩❶❷❣✤↔➙r❂➀✉⑦⑧t✇✈①❶❷⑦➙➇❢⑤✉✈①❤✽➀✖③❉➩④❤☞❶☎⑦↕✈①t❺t➤❤✽➍④❣✤❤☞⑥❩✈❥➾❘⑦❫➦ ❤④➦✧✈❷❝➅❤✕❿◗➀s➟❭③④➟
xi(0)

⑦➙t
⑤❢⑥❢⑦↕➟❇③④❶①❣✚③❏➩④❤✽❶

[0, L]
➚➝➦◆❜❞❝➅❤✺t①⑨❹❣✤❤➨❝❢③④↔⑧➀❢t✧③④➟✮②☞③④⑤❢❶✾t❷❤➨⑨❉✈❧⑨④⑥➘r✡⑨④❶❷➇❢⑦↕✈❷❶✾⑨❹❶①r❥✈①⑦↕❣✤❤❁➾❇⑦Ø➦ ❤④➦✻✈❷❝➅❤➨❿◗➀✉➟✮③④➟

xi(t)
⑦➙t

⑤❢⑥❢⑦↕➟❇③④❶①❣ ③❉➩④❤☞❶
[0, L]

⑦➭➟
t
⑦⑧t❧⑨④❶❷➇❢⑦↕✈❷❶✾⑨❹❶①r✉➚✝➦

❻☎⑥❢③④✈❷❝❢❤✽❶✱②✝③④⑥✩t➤❤✧✙➘⑤❢❤✽⑥➅②✝❤❧③④➟✿✈①❝❢⑦⑧t❽⑨❩t❷t❷⑤❢❣✤❿✉✈①⑦↕③❩⑥✤⑦➙t❭✈①❝➅⑨❉✈❽✈❷❝➅❤☎❿✿③❩t❷⑦↕✈❷⑦➙③④⑥✤③④➟◗❣✤③❩➇❢⑦↕↔➙❤
Xi+1

⑨❹✈◆✈❷⑦➙❣✤❤
Ti−1➾❘⑦❫➦ ❤④➦☎➛❧❝❢❤☞⑥

Xi
❶❷❤➎②✝❤☞⑦➙➩④❤✽t✟⑨❁❣✤❤✽t①t❷⑨④➍④❤✺➟❇❶❷③❩❣

Xi−1
➚❧⑦⑧t✟t➤✈❷⑦➙↔➙↔✮⑤❢⑥❢⑦↕➟❇③④❶①❣➫↔➙r✖➀✉⑦➙t➤✈❷❶①⑦➙➇❢⑤✉✈❷❤➎➀❱③❏➩④❤✽❶

[0, L]
➦☎❜❞❝❢⑦⑧t

❿❢❶①③④❿✿❤✽❶➤✈✇r❁➛❧⑦➙↔➙↔➠➇✩❤❅⑤➅t❷❤✽➀✍↔⑧⑨❹✈❷❤☞❶❧③❩⑥➠➦
⑩❭❶❷③❩❿✿③❩t❷⑦➭✈①⑦↕③❩⑥✤➃❢➦➙➄❞➇✿❤☞↔➙③❉➛ ⑨❩➀❢➀✉❶①❤✽t❷t❷❤✽t✸✈①❝❢❤☎↔↕③✉②✽⑨❉✈①⑦↕③❩⑥➫③❹➟➵⑨✺❣✤③④➇❢⑦➙↔➙❤☎⑨❉✈❭✈①❝❢❤❧✈❷⑦➙❣✤❤☎➛❧❝❢❤☞⑥✡⑨✺❶❷❤✽↔➙⑨❏r✕③✉②✽②✝⑤❢❶✾t✽➦

❮➅③④❶➨↔⑧⑨❉✈①❤☞❶➨❶①❤✝➟❇❤✽❶❷❤✽⑥➅②✝❤❩➯◗➛✱❤✤t➤✈①⑨❹✈❷❤❥✈❷❝❢❤✤❶❷❤➎t➤⑤❢↔↕✈✺⑦↕⑥❛⑨✍➍④❤✽⑥❢❤☞❶✾⑨❹↔✮➟❇③④❶①❣❂➦➫✐✱③❩⑥➅t➤⑦⑧➀✉❤✽❶❺✈➥➛✱③✖⑨❩➀❏❸➤⑨④②✝❤✽⑥❩✈❅t❷❤☞➍④❣✤❤✽⑥❩✈✽➯
❤➎⑨④②✾❝❱③❹➟◆↔↕❤✽⑥❢➍❹✈①❝

L
➯✿➛❧⑦↕✈❷❝➽⑨➲t➤⑦➙⑥❢➍❩↔↕❤✬❣➫③❩➇❢⑦➙↔↕❤✬⑦➙⑥➶❤✽⑨④②✾❝➶t❷❤☞➍④❣✤❤✽⑥❩✈➫➾❇❣✤③④➇➅⑦↕↔➙❤

X
⑦↕⑥❱✈①❝❢❤✕➡✩❶①t➤✈➨t➤❤✽➍④❣✤❤☞⑥❩✈➨⑨❹⑥✩➀

Y
⑦↕⑥✡✈①❝❢❤➨t❷❤✽②☞③④⑥➅➀✡t❷❤☞➍❩❣➫❤✽⑥❩✈➝➚➝➦❭➼✧③❹✈①❝✡❣✤③④➇❢⑦➙↔➙❤✽t✱❣✤③❏➩④❤❺⑦↕⑥✡✈①❝❢❤☞⑦➙❶❞t➤❤✽➍④❣✤❤☞⑥➘✈➨➾❘➛❧⑦➭✈①❝➲❶①❤✝➻✩❤✽②➝✈①⑦↕⑥➅➍✬➇✿③④⑤❢⑥✩➀❢⑨❹❶①⑦↕❤➎t①➚

⑨❩②☞②✝③❩❶①➀✉⑦➙⑥❢➍➽✈❷③ ⑦➙⑥➅➀✉❤☞❿✿❤✽⑥➅➀✉❤☞⑥➘✈➲⑨❹⑥➅➀ ⑦⑧➀✉❤☞⑥➘✈❷⑦⑧②☞⑨❹↔✟➼✱❶①③❉➛❧⑥❢⑦➙⑨④⑥❑❣✤③❹✈❷⑦➙③④⑥✩t➫➛❧⑦↕✈❷❝ ➞✽❤☞❶①③❛➀✉❶①⑦↕➟ ✈✡⑨❹⑥✩➀ ②✝③✉❤✍✦✡②✝⑦➙❤☞⑥❩✈
➀✉⑦✧✑◗⑤➅t➤⑦➙③④⑥

D
➦✡➪➺❤➲⑨④t①t➤⑤❢❣✤❤➫✈❷❝➅⑨❹✈❅✈❷❝➅❤✡➼✱❶①③❉➛❧⑥❢⑦➙⑨④⑥➺❣➫③④✈❷⑦➙③④⑥❛❶①❤☞❿➅❶❷❤➎t➤❤✽⑥❩✈❷⑦➙⑥❢➍✍✈①❝❢❤❁❣✤③❉➩④❤☞❣✤❤☞⑥❩✈✕③④➟

Y
⑦⑧t✺⑦➙⑥

t➤✈❷❤➎⑨④➀✉r➽t➤✈①⑨❹✈❷❤❁⑨❹✈✺✈❷⑦➙❣✤❤
t = 0

➦✡❻❺t✺⑤➅t❷⑤➅⑨❹↔Ø➯✮⑨❂❶❷❤✽↔➙⑨❏r❱➛❧⑦➙↔➙↔❭③✉②✽②✝⑤❢❶✺✈❷❝❢❤✤➡➅❶✾t➤✈✺✈❷⑦➙❣✤❤✤➛❧❝➅❤☞⑥❛➇✿③④✈❷❝❛❣✤③❩➇❢⑦↕↔➙❤✽t
②☞③④❣✤❤✺➛❧⑦➭✈①❝❢⑦➙⑥❱⑨✤➀✉⑦➙t➤✈①⑨④⑥➅②✝❤

r
③④➟✸❤✽⑨❩②①❝❂③❹✈①❝❢❤☞❶➎➯✉➛❧⑦➭✈①❝

L ≤ r ≤ 2L
➦

☎ ➓ ✃✝✆❭✃ ➑❏✳ ➒✢✳ ✃ ✲ ✾ ✞ ✯✡✠ ☎ ❐ ❁✟✃ ❁ ✱ ✃ →④➔❢➒✢✳ ✃ ✲ ➔❢➒✤➓ ➷ ✱❘➔ ➬ ➷ ✆◆✃ →✟✿✹✎ ✞
✑ ✠ ✦

L ≤ r ≤ 2L ✯ ✷✻✁ ✥ q(y;x) ✩ y ∈ [0, L] ✩ ✓ ✁✛✥✖✒❅✁❆✤❅✘ ✆ ✑ ✆✚✥✖✒❅✁✂✁ ✩ ✁☎✄✝✆✟✥ ✠✮✝✟✁☎✄ ✤❀✑ ✭✕✠☛✥✧✠ ✑✪✡ ✑ ✆ ✁ ✑✔✓✕✠☛✄✝✁
Y✆✪✥ ✥✖✒❅✁ ✩ ✁☎✄✝✆✟✞ ✁☞✤❅✑✢✜✦✒ ✩ ☞✪✠✮✝✟✁☎✡ ✥✄✒✌✆✪✥ ✆✟✥★✥✧✠ ✁ ✁

t = 0
✥✄✒✌✁ ✁ ✑✔✓✕✠☛✄✝✁

X
✠ ✭ ✆✟✥ ✤❀✑ ✭✕✠☛✥✧✠ ✑✪✡

x
✆✟✡ ✘ ✥✄✒✌✁ ✤❅✑ ✭✕✠☛✥ ✠ ✑✟✡ ✑ ✆

✁ ✑ ✓ ✠☛✄✝✁
Y

✠ ✭ ✬❅✡ ✠ ✆ ✑✟✩ ✁ ✯✆ ✁ ✒✌✆ ✝ ✁
q(y;x) =

1{y≤x+r−L} + f(x, y)1{y≥r−L, x<2L−r}
L

,
➾❫➌❩➚

✦✹✒❅✁ ✩ ✁

f(x, y) =
4

π2

∞
∑

m≥1

∞
∑

n≥1
n6=m

n (am,n + bm,n + cm,n)

m2 + n2
sin

(

mπ(y − r + L)

2L − r

)

+
2

π(2L − r)

∞
∑

m≥1

dm + em

m
sin

(

mπ(y − r + L)

2L − r

)

,

✝✟✞ ÑÓÙ☞×➤Ô✻ÒÓÖ➥× p(x) Þ④Ö✱×❫â❏Ö❞ä❘× Ð①×❫ÑÓÝ➝Ù❉Ð✾Ü ❃ ❅❏Ö✇Ù❏äØÑ × ❃❅á❏Ü❫Ý➝Þ❏Ð➝Þ➎ÑÓÒÓÑ × ❃❅×Øâ❉Ð①×❭×❫â❏Ö❞Ï❧Ý➝Þ❏ÑÓÒÓÖ❽ÑÓä✻ÑÓÙ✕á❹Ý➝ä❫Ñ ×ØÑÓÝ➝Ù x ∈ [0, L] Ú✡✠✽Ý➝Ò à✽ÑÓÙ❏ß×Øâ➎Ö ❅❏Ñ ☛ ❇❏ä❫ÑÓÝ➝Ù➨Ö✌☞✢❇❏Ð①×ØÑÓÝ➝Ù D∂2p(x)/dx2 = 0 ❈❳Ñ ×Øâ❺×❫â❏Ö◆Ü❫Ö☎✍❉Ö☞❂➥×ØÑÓÙ❏ß✺❂✇Ý➝Ù✏❅❏Ñ ×❫ÑÓÝ✝Ù➎ä dp(x)/dx = 0 æ↕Ý➝Ü x ∈ {0, L} Ð✾Ù✏❅❺×Øâ➎ÖÙ❏Ý➝Ü❘Ï☎Ð✾ÒÓÑ✏✎➤ÑÓÙ➎ß ❂✇Ý➝Ù✏❅❏Ñ ×❫ÑÓÝ➝Ù ∫
L

0
p(x)dx = 1 ❃➎ÑÓÖ✇Ò ❅❏ä p(x) = 1/L æ↕Ý➝Ü x ∈ [0, L] ✑ äØÖ✇Ö❭Ö➝Ú ß❏Ú✓✒ ❍ ❊ á➘Ú✕✔✖✔✕❍✘✗ Ú

❉✻❉ Ù✪❊●❋✕❍❏■✕■



➄❏➈ ✖ ✄ ✥ ✁ ✆✪✡✄✂✆☎ ✩ ✑✢✁☎✡❂✁✞✝ ✁☎✄ ✥✟✂ ✣✛✆✟✠☛✡

✆✪✡❂✘

am,n =
2m sin(nθ) − 2n sin(mθ)

m2 − n2
, bm,n =

sin
(

(m − n)π + nθ
)

+ sin
(

(m − n)π − mθ
)

m − n

cm,n = −
sin

(

(m + n)π − nθ
)

+ sin
(

(m + n)π − mθ
)

m + n
, dm = 2(2L − r − x) cos(mθ)

em =
2L − r

mπ

(

sin(mθ) − sin
(

2mπ − mθ
))

, θ =
πx

2L − r
. ⋄

❜❞❝❢❤✱❿❢❶①③s③④➟❢③❹➟✩⑩❭❶①③④❿✿③❩t❷⑦↕✈❷⑦➙③④⑥✬➃❢➦➙➄❽⑦⑧t✸➍④⑦➙➩④❤☞⑥✬⑦↕⑥➫❻☎❿❢❿✿❤✽⑥➅➀✉⑦↕➢✬➼➨➦➎➪❛❤❞⑨❹❶①❤❽⑥❢③❉➛ ⑦↕⑥➫⑨✟❿✿③❩t❷⑦➭✈①⑦↕③❩⑥❅✈①③➨②✝③❩❣➫❿➅⑤✉✈❷❤
✈①❝❢❤❅❤✝➢✉❿✿❤✽②✝✈❷❤✽➀✍✈❷❶✾⑨❹⑥➅t➤➟❇❤☞❶❞✈❷⑦➙❣✤❤✽t

IE[Ti]
➟❇③④❶

i = 1, . . . , I − 1
➦

✢✟❤☞➡➅⑥❢❤
fi(x)

➾
0 ≤ x ≤ L

➚❭⑨④t✻✈❷❝➅❤❧❿◗➀s➟➵③④➟
xi(Ti−1)

➟❇③④❶
i = 1, . . . , I−1

➾❇✈❷❝➅⑨❹✈❽⑦➙t✽➯
P (xi(Ti−1) <

y) =
∫ y

0
fi(x) dx

➚➝➦ ➸☎③④✈❷❤✍✈①❝➅⑨❉✈
f1(x) = 1/L

➟❇③❩❶
x ∈ [0, L]

✈①❝➅⑨❹⑥❢➜✉t❥✈①③➺✈❷❝❢❤❱⑨④t①t➤⑤➅❣➫❿❢✈❷⑦➙③④⑥ ✈①❝➅⑨❉✈
❣✤③④➇➅⑦↕↔➙❤

X1
⑦⑧t❺⑦➙⑥➺t✇✈①❤✽⑨④➀❢r❩➳➥t➤✈①⑨❉✈①❤✬⑨❹✈✟✈①⑦➙❣➫❤

t = 0
➾❘❶❷❤➎②☞⑨④↔↕↔❳✈①❝➅⑨❉✈

T0 = 0
➇sr❱②✝③❩⑥➘➩④❤✽⑥❩✈❷⑦➙③❩⑥✩➚➝➦ ✔ ❤☞✈➨⑤➅t✟➡➅❶✾t➤✈

②☞③④❣✤❿❢⑤✉✈❷❤
IE[T1]

➦❭➪❛❤✺➡➅⑥➅➀

IE[T1] =
1

L2

∫ L

0

∫ L

0

IE [T1 |x1(0) = x, x2(0) = y] dx dy

=
1

L2

∫

{x+r<y+L}
T2L,r(x, y + L) dx dy,

➾✇➄➎➉❩➚

➇sr➫⑤➅t❷⑦↕⑥❢➍✍➾ ✝➘➚◆⑨❹⑥➅➀
T2L,r(x, y +L) = 0

⑦↕➟
x+ r ≤ y +L

➦◆♣s⑦➙❣✤⑦↕↔⑧⑨❹❶❽✈❷③✕✈❷❝❢❤➨➀✉❤☞❶①⑦↕➩❹⑨❉✈①⑦↕③❩⑥✤③❹➟❽➾❫➂④➚❭➛✧❤☎➍❩❤✝✈

IE[T1] =
64 (2L − r)4

Dπ6L2
C0.

➾✇➄④➄❏➚

➪❛❤❅⑥❢③❏➛❚②☞③④❣✤❿❢⑤✉✈❷❤
IE[Ti]

➟❇③❩❶
i = 2, . . . , I − 1

➦❭➪➺❤❅❝➅⑨❏➩④❤

IE[Ti] =IE[Ti−1] +
1

L

∫ L

0

∫ L

0

IE [Ti − Ti−1 |xi(Ti−1) = x, xi+1(Ti−1) = y] fi(x) dx dy
➾➤➄➎➈④➚

=IE[Ti−1] +
1

L

∫

{x+r<y+L}
T2L,r(x, y + L) fi(x) dx dy,

➾➤➄✽➃❩➚

➛❧❝❢❤✽❶❷❤➽➛✱❤➽❝➅⑨❏➩④❤➶⑤➅t❷❤✽➀✴➾ ✝➘➚✤✈❷③ ➀✉❤✽❶❷⑦➙➩④❤❑➾➤➄✽➃❩➚✝➦✷❜❳③ ➀✉❤☞❶①⑦➙➩④❤❑➾✇➄❏➈④➚❁➛✱❤➽❝➅⑨❏➩④❤➶⑤➅t❷❤✽➀ ✈❷❝➅❤➶➟❘⑨④②✝✈➲✈❷❝✩⑨❉✈➲✈①❝❢❤
❿✿③➘t➤⑦↕✈❷⑦➙③④⑥➺③④➟✧❣➫③❩➇❢⑦➙↔↕❤

Xi+1
⑦➙t✺⑤➅⑥❢⑦➭➟❇③❩❶❷❣✤↔➙r➽➀✉⑦⑧t➤✈❷❶①⑦↕➇❢⑤❢✈❷❤✽➀❛③❏➩④❤✽❶✺⑦➭✈✾t❅t❷❤☞➍❩❣➫❤✽⑥❩✈✕⑨❹✈✺✈❷⑦➙❣➫❤

Ti−1
➾❘⑦❫➦ ❤④➦❁➛❧❝❢❤☞⑥

✈①❝❢❤✬❶①❤☞↔⑧⑨➎r✍➇✿❤✝✈✇➛✱❤✽❤☞⑥➶❣✤③④➇❢⑦➙↔➙❤✽t
Xi−1

⑨❹⑥➅➀
Xi

③✉②✽②✝⑤❢❶✾t①➚✝➯✩⑨④⑥➅➀❂✈①❝➅⑨❉✈❺⑦↕✈❺⑦⑧t✟⑦↕⑥✩➀✉❤☞❿✿❤✽⑥➅➀✉❤☞⑥➘✈➨③❹➟✻✈①❝❢❤✬❿✿③➘t➤⑦↕✈❷⑦➙③④⑥
③④➟✮❣✤③④➇❢⑦➙↔↕❤

Xi−1
⑨❉✈❞✈❷⑦➙❣✤❤

Ti−1
➦❭➧ ✈❧❶①❤☞❣❁⑨❹⑦➙⑥➅t✱✈❷③✤❤☞➩❉⑨④↔↕⑤✩⑨❉✈❷❤❺✈❷❝➅❤➨➟❇⑤❢⑥➅②➝✈①⑦↕③❩⑥➅t

fi(x)
➟❇③④❶

i = 2, . . . , I − 1
➦

✢❺⑦ ✑◗❤☞❶①❤☞⑥➘✈❷⑦⑧⑨❉✈①⑦↕⑥❢➍❁⑦➙⑥
y
③④⑥❂➇✿③④✈❷❝✖t❷⑦⑧➀✉❤✽t❞③④➟✮✈❷❝❢❤❅⑦⑧➀✉❤☞⑥➘✈❷⑦↕✈✇r

P (xi(Ti−1) < y) =

∫ L

0

P (xi(Ti−1) < y |xi−1(Ti−2) = x) fi−1(x) dx,

✬✮✭✸❉✯✬✮✰



�✂✁☎✄✝✆✟✞✟✠☛✡✌☞✍✠☛✡✏✎✒✑✔✓✕✠☛✄✝✁✗✖✂✘✚✙✛✑✢✜✤✣✚✁☎✥✧✦★✑✪✩✬✫✢✭ ➄✽➃

⑨④⑥➅➀➲✈❷❝❢❤✽⑥✖⑤➅t➤⑦➙⑥❢➍❁⑩◆❶❷③❩❿✩③➘t➤⑦↕✈①⑦↕③❩⑥✍➌➅➯✉➍❩⑦↕➩④❤➎t

fi(y) =

∫ L

0

q(y;x) fi−1(x) dx, 0 ≤ y ≤ L,
➾✇➄✽➊➘➚

➟❇③❩❶
i = 2, . . . , I − 1

➦❭❜❞❝➅❤✽t❷❤✺❶❷❤➎t➤⑤➅↔➭✈✾t❧⑨❹❶①❤✺t➤⑤➅❣➫❣❁⑨④❶❷⑦➙➞☞❤➎➀➲⑦➙⑥✍✈①❝❢❤❅⑥❢❤✝➢s✈☎❿❢❶①③④❿✿③❩t❷⑦↕✈❷⑦➙③④⑥➠➦
☎ ➓ ✃✝✆❭✃ ➑❏✳ ➒✢✳ ✃ ✲ ✾ ✞ ✵✙✠☞☛✍✌ ✆◆➷ →❹➒ ➷ ❐ ➒✽➓❏➔ ✲ ➑ ❁ ➷ ➓✡➒❏✳ ✒ ➷ ➑✏✎ ✞

� ✒❅✁ ✁✧✦✾✤❅✁✬✜ ✥ ✁✬✘ ✥✧✩ ✆✪✡❀✭✝✆ ✁☎✩✒✥ ✠ ✁ ✁ ✭
IE[Ti]

✆ ✑✟✩
i = 1, . . . , I − 1 ✩ ✆✟✩ ✁✏☞✪✠✮✝✟✁ ✡ ✓✕✞ ✁ ✁✂✁ ✄ ✆✪✡❂✘ ✁ ✁☎✄ ✄ ✩✦✹✒❅✁ ✩ ✁ ✥✄✒✌✁ ✆❍✬❅✡❂✜☎✥ ✠ ✑✟✡❀✭

fi(x) ✩ i = 2, . . . , I − 1 ✩ ✭☎✆✟✥ ✠ ✭✝✆✬✞✍✥✄✒✌✁✛✩ ✁✬✜✦✬❅✩✬✭✕✠ ✑✪✡ ✁ ✁✝✆ ✄✍✦ ✠☛✥✄✒
f1(x) = 1/L ✯✟✞ ✡✤❅✆✪✩✕✥✧✠ ✜✾✬❅✄✝✆✪✩ ✩

IE[T1] =
64 (2L − r)4

Dπ6L2
C0. ⋄

✠ ✥ ✂✞☛ ✁❧✫✻✠✝✣✧✆✬✄➺✫✸✁❧✯ ✂❂✄✾✦✮✯✚✆✬☛✍✙✜✙❂✠☞✯❳✣ ✂➲✯✮✯✮✠✝✒✬☛

❜❞❝❢❤✬❤☞➢✉❿✿❤✽②➝✈①❤✽➀✖✈❷❶✾⑨❹⑥✩t✇➟❇❤✽❶☎✈❷⑦➙❣➫❤
TL,r(x0, y0)

⑦⑧t❺➀✉⑦⑧t❷❿❢↔➙⑨❏r④❤✽➀❱⑦↕⑥➽❮✸⑦➙➍④⑤❢❶①❤ ✓➲⑨④t❺⑨✤➟❇⑤❢⑥✩②➝✈❷⑦➙③④⑥➽③❹➟❭✈❷❝➅❤✬⑦➙⑥❢⑦➭✈①⑦⑧⑨❹↔
❿✿③➘t➤⑦↕✈❷⑦➙③④⑥

x0
⑨❹⑥➅➀

y0
③❹➟❞✈①❝❢❤➲❣✤③④➇❢⑦➙↔➙❤✽t✽➯✮➟❇③④❶

L = 30
➯
r = 5

⑨❹⑥➅➀
D = 1/4

➾❇❶①❤✽②☞⑨④↔↕↔◆✈①❝➅⑨❉✈
D
⑦⑧t✕✈❷❝❢❤

➀✉⑦✧✑◗⑤➅t➤⑦➙③④⑥✍②✝③s❤✞✦❁②☞⑦↕❤✽⑥❩✈✱③❹➟➵✈①❝❢❤❺➼✧❶①③❏➛❧⑥➅⑦➙⑨④⑥✤❣✤③❹✈①⑦↕③❩⑥➅t ✂✹⑨❹⑥✩➀ ☎✖➚➝➦s❜❞❝❢❤✟➡➅➍④⑤❢❶①❤✟t❷❝❢③❉➛☎t❭✈❷❝✩⑨❉✈✱✈❷❝❢❤❺❤✝➢✉❿✿❤✽②✝✈❷❤➎➀
✈①❶①⑨④⑥➅t✇➟❇❤✽❶◆✈①⑦↕❣✤❤❺➍④❶①③❏➛☎t✟➾❇❶①③④⑤➅➍④❝❢↔➙r❢➚✻↔➙⑦↕⑥❢❤➎⑨❹❶①↔↕r✤⑨④t◆✈①❝❢❤❺⑦↕⑥❢⑦↕✈❷⑦⑧⑨❹↔◗➀✉⑦⑧t➤✈①⑨❹⑥✩②✝❤✟➇✿❤✝✈✇➛✱❤☞❤✽⑥✡➇✿③④✈❷❝✡❣✤③❩➇❢⑦↕↔➙❤✽t❽⑦➙⑥➅②☞❶❷❤➎⑨④t❷❤✽t
⑨④⑥➅➀➹⑥❢❤☞⑦↕✈❷❝❢❤✽❶❥③④➟❧✈❷❝❢❤✍❣✤③④➇❢⑦➙↔➙❤✽t✬⑦⑧t✬⑥❢❤➎⑨❹❶✬✈❷❝❢❤✍➇✿③④⑤➅⑥➅➀❢⑨❹❶①⑦➙❤✽t✕③❹➟❧✈①❝❢❤✍⑦↕⑥➘✈❷❤☞❶①➩❉⑨④↔

[0, L]
➦➺➪❛❤➲⑤✩t➤❤➎➀ ➾✇➄✽➊➘➚✺✈❷③

➀✉❤☞✈❷❤☞❶①❣✤⑦➙⑥❢❤➲✈❷❝❢❤❂❣❁⑨❹❿❢❿❢⑦➙⑥❢➍
x → f2(x)

➟❇③④❶
0 ≤ x ≤ L

➯❭✈①❝❢❤✍❿◗➀s➟❺③❹➟☎✈❷❝❢❤❂↔➙③✉②☞⑨❉✈①⑦➙③④⑥➹③④➟☎❣✤③❩➇❢⑦↕↔➙❤
X2➛❧❝❢❤✽⑥❱✈❷❝❢❤❥❶❷❤✽↔➙⑨❏r✍➛❧⑦➭✈①❝

X1
③✉②☞②☞⑤❢❶①t✽➦☎❜❞❝❢⑦➙t✟❣❁⑨④❿❢❿❢⑦➙⑥❢➍✡⑦⑧t✟❿❢↔➙③❹✈➤✈①❤✽➀❱⑦➙⑥➽❮✸⑦↕➍❩⑤❢❶❷❤ ✕❥➟❇③④❶➨➀✉⑦✧✑✿❤✽❶❷❤✽⑥❩✈❺➩❹⑨❹↔➙⑤❢❤✽t☎③④➟

✈①❝❢❤❥t✇✈✾⑨❹❶❷✈❷⑦➙⑥❢➍✡❿✩③➘t➤⑦↕✈①⑦↕③❩⑥✖③④➟❭❣✤③④➇❢⑦➙↔➙❤
X1

➾
x1(0) = 5, 10, 15, 20

➚✟⑨④⑥➅➀❂➟❇③④❶
L = 30

➯
r = 35

➯
D = 1/4

➦
➧ ✈✬⑦⑧t✕⑦↕⑥➘✈❷❤☞❶①❤✽t➤✈❷⑦➙⑥❢➍✖✈①③❱③❩➇➅t❷❤☞❶①➩④❤➫✈❷❝➅⑨❹✈

f2(x)
⑦⑧t❅⑤➅⑥❢⑦➭➟❇③❩❶❷❣ ⑦➙⑥

[0, x1(0)]
➦✖❜❞❝❢⑦⑧t✕⑦➙t✕❤✽⑨❩t➤⑦➙↔➙r➽❤✝➢✉❿❢↔⑧⑨❹⑦➙⑥❢❤✽➀❛➇sr

✈①❝❢❤❅➟❘⑨❩②➝✈☎✈❷❝✩⑨❉✈✟⑦↕➟
X2

⑦⑧t☎↔↕③✉②✽⑨❉✈①❤✽➀❂⑦➙⑥
[0, r − L]

⑨❉✈☎✈❷⑦➙❣✤❤
T1

✈①❝❢❤☞⑥❱⑦↕✈❺➛✧⑨④t☎⑥❢❤✽②✝❤➎t❷t①⑨❹❶①⑦➙↔↕r➲↔↕③✉②✽⑨❉✈①❤✽➀❂⑦➙⑥✖✈❷❝❢⑦⑧t
⑦➙⑥❩✈①❤☞❶①➩❉⑨❹↔❽❿❢❶①⑦➙③④❶✕✈❷③❱✈①⑦➙❣➫❤

T1
➯❭t➤⑦➙⑥➅②✝❤➲③❹✈①❝❢❤☞❶①➛❧⑦➙t❷❤❁✈❷❝❢❤➲❶①❤☞↔⑧⑨❏r➽➛✧③④⑤❢↔⑧➀ ❝➅⑨❏➩④❤✡③✉②☞②☞⑤❢❶①❶❷❤➎➀➺➇✿❤☞➟❇③④❶①❤

T1
➦➶❼◆⑨❩②①❝

❿✿❤✽⑨④➜❥②☞③④❶①❶❷❤➎t➤❿✿③④⑥➅➀➅t✮✈①③✺✈①❝❢❤☎❣✤③❩t➤✈◆↔➙⑦➙➜④❤☞↔➙r❥➩❉⑨❹↔➙⑤❢❤
y
⑦➙⑥

[0, L]
➛❧❝❢❤✽❶❷❤❧❣✤③❩➇❢⑦↕↔➙❤

X2
➛❧⑦↕↔➙↔➅➇✿❤☎↔↕③❢②☞⑨❉✈①❤✽➀✤⑨❉✈◆✈❷⑦➙❣✤❤

T1
➦◆❜❞❝❢⑦⑧t❞➩❹⑨❹↔➙⑤❢❤✺⑦➙t❧➍④⑦➙➩④❤☞⑥❂➇➘r

y = x1(0) + r
➦

❮✮⑦➙➍④⑤➅❶❷❤ ✝ ➀✉⑦➙t❷❿❢↔⑧⑨➎r✉t✡❣❁⑨❹❿❢❿❢⑦➙⑥❢➍➘t
x → fi(x)

➟❇③④❶
i ∈ {2, 3, 100} ➾❇❤☞➩❹⑨❹↔➙⑤➅⑨❉✈①❤✽➀ ➟❇❶❷③❩❣➆➾➤➄☞➊➘➚✤➛❧⑦↕✈❷❝

⑤❢⑥❢⑦↕➟❇③④❶①❣✤↔➙r✍➀✉⑦⑧t✇✈①❶❷⑦➙➇❢⑤✉✈①❤✽➀❂⑦➙⑥❢⑦↕✈❷⑦⑧⑨❹↔➠↔➙③✉②✽⑨❉✈①⑦↕③❩⑥➅t①➚✝➦❭➧ ✈☎⑦⑧t❧➛✱③❩❶➤✈①❝❂③④➇✩t➤❤✽❶❷➩s⑦➙⑥❢➍❥✈❷❝➅⑨❹✈❧✈①❝❢❤✽t❷❤✺➟❇⑤❢⑥➅②✝✈❷⑦➙③④⑥➅t✟②✝③❩⑥➘➩④❤☞❶①➍④❤
➩④❤✽❶❷r✡❶✾⑨❹❿❢⑦⑧➀✉↔➙r➽➾❘⑨❹↔➙❶①❤✽⑨④➀❢r

f3(x)
⑨❹⑥➅➀

f100(x)
⑨❹❶①❤➨❤☞➢s✈❷❶①❤☞❣✤❤☞↔➙r➲②✝↔➙③❩t❷❤❺✈①③✤❤✽⑨❩②①❝❂③④✈❷❝❢❤✽❶✾➚✝➦

❮✮⑦➙➍④⑤➅❶❷❤✧➌❺➀✉⑦⑧t❷❿❢↔➙⑨❏r✉t✮❣❁⑨❹❿❢❿❢⑦➙⑥❢➍➘t
r → IE[T100]

➯
r → 100×IE[T2−T1]

⑨❹⑥✩➀
r → 100×IE[T1]

➦✸❜❞❝➅⑦➙t
➡➅➍❩⑤❢❶❷❤❧②✽⑨❹❶①❶❷⑦➙❤✽t✮✈➥➛✱③❅⑦↕❣✤❿✿③❩❶➤✈✾⑨❹⑥❩✈❭❣✤❤➎t❷t①⑨❹➍❩❤✽t✽➦❳❮✸⑦➙❶✾t✇✈➎➯❹⑦↕✈❽t❷❝❢③❏➛☎t✸➟❇③④❶❽➀✉⑦ ✑◗❤☞❶①❤☞⑥➘✈◆➩❉⑨❹↔➙⑤❢❤➎t✸③④➟✩✈❷❝❢❤❞✈①❶①⑨④⑥➅t❷❣➫⑦⑧t①t➤⑦➙③④⑥
❶✾⑨❹⑥❢➍❩❤

r
➯➘✈①❝➅⑨❉✈✱✈①❝❢❤➨⑨④❿❢❿❢❶❷③❏➢✉⑦➙❣✤⑨❹✈❷⑦➙③④⑥

IE[T100] ∼ 100× IE[T2 −T1]
⑦➙t✱➩④❤✽❶❷r✤②☞↔↕③➘t➤❤☎✈①③✕✈①❝❢❤❺❤☞➢✉⑨❩②➝✈✱❶①❤✽t❷⑤❢↔↕✈

IE[T100]
➾❫➀✉❤☞❶①⑦↕➩④❤➎➀➲➟❇❶❷③❩❣ ⑩❭❶①③④❿✿③➘t➤⑦↕✈❷⑦➙③④⑥❂➃➅➦ ➈❩➚➤➚✝➯s✈❷❝➅❤☞❶①❤☞➇➘r✍t❷⑤❢➍④➍❩❤✽t✇✈①⑦➙⑥❢➍❥✈❷❝❢❤✕⑨❹❿➅❿❢❶❷③❏➢✉⑦↕❣❁⑨❹✈❷⑦➙③④⑥

IE[Ti] ∼ i × IE[T2 − T1]
➾✇➄➎➂❩➚

➟❇③❩❶➠✈①❝❢❤❽❤☞➢s❿✿❤➎②➝✈①❤✽➀✺✈❷⑦➙❣✤❤◆✈①③✟❶❷❤✽↔➙⑨❏r➨⑨❧❣✤❤➎t❷t①⑨❹➍❩❤✻➟❇❶❷③❩❣❚❣✤③④➇❢⑦➙↔↕❤
X1

✈①③✟❣➫③❩➇❢⑦➙↔↕❤
Xi+1

➦✸❜❞❝❢⑦➙t✸⑨❹❿❢❿❢❶①③➎➢✉⑦➙❣❁⑨❉✈①⑦↕③❩⑥
⑦⑧t❅➇➅⑨❩t➤❤➎➀➺③❩⑥➺✈①❝❢❤❁➟❘⑨④②✝✈❅✈①❝➅⑨❉✈✕✈❷❝❢❤✡❶①❤☞↔⑧⑨➎r➽↔↕③❢②☞⑨❉✈①⑦↕③❩⑥ ②✝③❩⑥➘➩④❤☞❶①➍④❤✽⑥➅②✝❤➎t➨❤✝➢s✈❷❶①❤☞❣✤❤✽↔↕r➽❶✾⑨❹❿❢⑦⑧➀✉↔➙r➺⑨❹⑥➅➀➵➯✸➛❧⑦➭✈①❝❛✈①❝❢❤

❉✻❉ Ù✪❊●❋✕❍❏■✕■



➄✽➊ ✖ ✄ ✥ ✁ ✆✪✡✄✂✆☎ ✩ ✑✢✁☎✡❂✁✞✝ ✁☎✄ ✥✟✂ ✣✛✆✟✠☛✡

0 5 10 15 20 25 30

0

10

20

30
0

50

100

150

200

250

300

350

400

x
0

Expected Tranfer Time

y
0

E
xp

ec
te

d 
T

im
e

❮✮⑦➙➍④⑤➅❶❷❤ ✓ � ❜❞❝❢❤ ❣❁⑨❹❿❢❿➅⑦↕⑥❢➍
(x0, y0) →

TL,r(x0, y0)
➾❇❤☞➢s❿✿❤➎②➝✈①❤✽➀ ✈❷❶✾⑨❹⑥➅t➤➟❇❤☞❶❑✈①⑦↕❣✤❤❚➇✩❤☞➳

✈➥➛✱❤✽❤☞⑥ ❣✤③④➇➅⑦↕↔➙❤✽t
X

⑨④⑥➅➀
Y
t✇✈✾⑨❹❶❷✈❷⑦➙⑥❢➍❂➟❇❶❷③❩❣

x0⑨❹⑥➅➀
y0
➯➅❶①❤✽t➤❿✿❤➎②➝✈①⑦↕➩④❤✽↔↕r❩➯❢⑨❹✈

t = 0
➦✱♣✉❤☞❤✡➾❫➈❩➚➤➚✧➟❇③④❶

L = 30
➯
r = 5

➯
D = 1/4

➦
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❮✮⑦➙➍④⑤➅❶❷❤ ✕ �✕♠❱⑨❹❿❢❿➅⑦↕⑥❢➍
x → f2(x)

➾❇❿◗➀s➟❞③④➟✱↔➙③❹➳
②☞⑨❉✈①⑦↕③❩⑥ ③④➟✕❣➫③❩➇❢⑦➙↔↕❤

X2
⑨❉✈➲✈①❝❢❤➺❶①❤☞↔⑧⑨➎r ❤☞❿✿③✉②✾❝✩➚

➟❇③④❶❂➛❧❝❢❤☞⑥●❣✤③④➇❢⑦➙↔➙❤
X1

⑦➙t❂⑨❹✈✍❿✿③➘t➤⑦↕✈❷⑦➙③❩⑥
x0 ∈

{5, 10, 15, 20} ⑨❹✈✟✈❷⑦➙❣✤❤ t = 0
➯✿➟❇③④❶

D = 1/4
➯

L = 30
➯
r = 35

➦
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❮✮⑦➙➍④⑤➅❶❷❤ ✝ � ♠❱⑨❹❿❢❿❢⑦➙⑥❢➍➘t
x → fi(x)

➟❇③④❶
i ∈

{2, 3, 100} ➾❇❿◗➀s➟✻③❹➟✻t✇✈✾⑨❹❶❷✈❷⑦➙⑥❢➍➫↔↕③✉②✽⑨❉✈①⑦↕③❩⑥➲③❹➟✸❣➫③④➳
➇❢⑦↕↔➙❤✽t✾➚✱➟❇③④❶

L = 30, r = 35,
⑨④⑥➅➀

D = 1/4
➦
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❮✮⑦➙➍④⑤➅❶❷❤➶➌ �❛✐✱③④❣✤❿➅⑨④❶❷⑦⑧t❷③④⑥ ③❹➟✺❣❁⑨❹❿➅❿❢⑦↕⑥➅➍❩t
r →

IE[T100]
➯
r → 100× IE[T2 − T1]

➯
r → 100×

IE[T1]
➟❇③❩❶

L = 30
⑨❹⑥➅➀

D = 1/4
➦

❤☞➢✉②☞❤☞❿✉✈①⑦↕③❩⑥➹③④➟❞✈①❝❢❤✡➡✩❶①t➤✈❥❶❷❤✽↔➙⑨❏r④➯✮✈①❝❢❤➲❶①❤☞↔⑧⑨❏r➺↔↕③❢②☞⑨❉✈①⑦➙③④⑥➅t✽➯✻⑨❹⑥➅➀ ✈❷❝➅❤☞❶❷❤☞➟❇③④❶①❤➲⑨❹↔⑧t➤③❱✈①❝❢❤➲❶①❤☞↔⑧⑨❏r➽✈❷⑦➙❣✤❤✽t✽➯✻③④➟❞✈①❝❢❤
②☞③④⑥➅t❷❤✽②✝⑤❢✈❷⑦➙➩④❤❅❶❷❤✽↔➙⑨❏r✉t❧⑨❹❶①❤❅➩④❤☞❶①r✍t➤⑦➙❣✤⑦➙↔➙⑨④❶✽➦✱➪❛❤✕❝➅⑨❏➩④❤❅⑦↕⑥✩➀✉❤☞❤➎➀❱②①❝❢❤➎②①➜④❤➎➀✍✈①❝➅⑨❉✈❥➾➤➄➎➂❩➚✧⑦⑧t☎⑨❩②☞②☞⑤❢❶①⑨❹✈❷❤➨➟❇③❩❶✟t❷❣❁⑨❹↔➙↔
➩❉⑨④↔➙⑤❢❤✽t✤③❹➟

i
⑨❩t✤➛✱❤✽↔↕↔✟⑨❩t➫➟❇③④❶✡↔➙⑨④❶❷➍❩❤❂➩❉⑨❹↔➙⑤❢❤➎t❱➾❇⑦Ø➦ ❤❩➦ ↔➙⑨④❶❷➍❩❤☞❶➫✈❷❝➅⑨④⑥

100
➚➝➦ ♣s❤➎②✝③❩⑥➅➀➵➯✧⑦➭✈✍t➤❝❢③❉➛☎t➫✈❷❝✩⑨❉✈❁✈①❝❢❤

✬✮✭✸❉✯✬✮✰
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⑨④❿❢❿❢❶❷③❏➢✉⑦➙❣✤⑨❹✈❷⑦➙③④⑥
IE[T100] ∼ 100 × IE[T1]

❣❁⑨➎r➶⑥❢③④✈❅➇✿❤❁⑨④②☞②☞⑤❢❶✾⑨❉✈❷❤❥➟❇③④❶✕t➤❣❁⑨❹↔➙↔✻✈❷❶✾⑨❹⑥➅t❷❣✤⑦➙t①t➤⑦➙③❩⑥➶❶✾⑨❹⑥➅➍④❤✽t✽➯
✈①❝❢❤☞❶①❤☞➇➘r ❶❷⑤❢↔➙⑦➙⑥❢➍➹③❩⑤✉✈✡✈❷❝❢❤➺⑨❹❿❢❿➅❶❷③❏➢✉⑦↕❣❁⑨❹✈❷⑦➙③④⑥

IE[Ti] ∼ i × IE[T1]
➦ ❜❞❝❢⑦⑧t✡⑦➙t➲t❷③➹➇✿❤➎②☞⑨❹⑤✩t➤❤✖✈①❝❢❤➶↔⑧⑨❉✈❷✈❷❤✽❶

⑨④❿❢❿❢❶❷③❏➢✉⑦➙❣✤⑨❹✈❷⑦➙③④⑥✍➀✉③s❤➎t✧⑥➅③❹✈☎⑨❩②☞②✝③❩⑤❢⑥❩✈❞➟❇③④❶❞✈①❝❢❤➨➟❘⑨❩②➝✈❧✈❷❝➅⑨❹✈❧❣✤③④➇❢⑦➙↔➙❤
Xi

➀❢③s❤✽t❞⑥❢③❹✈☎t➤✈①⑨④❶➤✈❞➟❇❶①③④❣ ⑨ ✘✇⑤➅⑥❢⑦➭➟❇③❩❶❷❣
↔➙③✉②☞⑨❹✈❷⑦➙③④⑥✛✚➲⑨❉✈❥✈❷⑦➙❣✤❤

Ti−1
➾❘⑨④t❥③④❿❢❿✿③➘t➤❤➎➀❛✈❷③➺❣✤③④➇❢⑦➙↔➙❤

X1
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⑥❢❤✝✈✇➛✱③❩❶❷➜✉t✽➦ ✖ ✣ ✎☞✔ ✞✟✞✠✞✠✞ � ✩ ✆✟✡●✭ ✆ ✜☎✥✧✠ ✑✟✡●✭✗✠☛✡ ✣✚✁☎✥✧✦★✑✪✩✬✫❏✠☛✡✌☞❹➯❳➄✽➉✩➾❇➊➘➚ � ➊✛✕ ✕✖✕➘➊ ✝ ✓✉➯✉❻☎⑤❢➍❩⑤➅t➤✈✟➈④➉④➉❩➈❢➦

❉✻❉ Ù✪❊●❋✕❍❏■✕■



➄✗✓ ✖ ✄ ✥ ✁ ✆✪✡✄✂✆☎ ✩ ✑✢✁☎✡❂✁✞✝ ✁☎✄ ✥✟✂ ✣✛✆✟✠☛✡

☛✖✕✗✌ ✢❥➦❳➸✟⑨④⑦↕⑥➠➯✮➸✬➦❳⑩✮❤☞✈❷⑦➙➍❩⑨❹❶✾⑨❢➯❳⑨④⑥➅➀❛❒✕➦❳➼❞⑨❹➜❹⑨❹➜s❶❷⑦⑧t➤❝❢⑥✩⑨❹⑥➠➦❥➧➥⑥❩✈①❤☞➍❩❶①⑨❹✈❷❤✽➀➽❶①③④⑤❢✈❷⑦➙⑥❢➍✖⑨④⑥➅➀❛t✇✈①③④❶✾⑨❹➍❩❤✬➟❇③④❶❅❣✤❤✽t➤➳
t①⑨❹➍④⑦➙⑥❢➍✤⑨❹❿❢❿❢↔➙⑦⑧②☞⑨❉✈①⑦↕③❩⑥➅t✧⑦➙⑥❂❣✤③❩➇❢⑦↕↔➙❤❅⑨④➀✍❝❢③❢②❺⑥➅❤✝✈✇➛✱③④❶①➜✉t☞➦✸➧➥⑥✌✝ ✩ ✑✢✜ ✯ ✑ ✆ ✆ ✑✟✩✬✫❏✭❍✒✌✑❍✤ ✑✪✡✏✎✒✑✢✘ ✁☎✄ ✠☛✡✌☞ ✆✟✡ ✘
✍ ✤ ✥ ✠ ✁ ✠✿✪❏✆✟✥ ✠ ✑✟✡✒✠☛✡ ✎✒✑ ✓ ✠☛✄✝✁ ✩ ✖✂✘✗✙✚✑✢✜✛✆✟✡❂✘ ✆ ✠☛✩ ✁☎✄✝✁ ✭ ✭ ✣✛✁ ✥ ✦★✑✟✩✬✫❏✭ ✁ ✆ ✠✏✍ ✤❂✥ ✑ ✓ ✄ ✄❉➯✩♣s③④❿➅❝❢⑦➙⑨➫❻☎⑥➘✈❷⑦➙❿✿③④↔➙⑦➙t✽➯
❮❢❶✾⑨❹⑥✩②✝❤④➯➅♠❱⑨④❶①②✾❝✖➈④➉④➉❩➃❢➦✸❜✮③❁⑨❹❿❢❿✿❤➎⑨❹❶❧⑦↕⑥➶♠➽❦➨➸✟❼❽❜✺➦

☛ ✝✔✌✬♣s⑦⑧➀✉⑥❢❤☞r❥❾❧❤➎➀✉⑥❢❤☞❶➎➦ ✖ ☎ ✬❅✠ ✘ ✁✂✥ ✑✍✑★✠☛✩✬✭✕✥✄✥ ✝ ✆✟✭ ✭☎✆✢☞ ✁ ✝ ✩ ✑✢✜✬✁✕✭✬✭☎✁ ✭✾➦➵✐✧⑨❹❣✬➇❢❶①⑦⑧➀✉➍④❤ ✤☎⑥❢⑦➙➩④❤☞❶✾t❷⑦➭✈✇r✬⑩❭❶❷❤➎t❷t✽➯❩➈❹➉❩➉❢➄④➦
☛ ➌✔✌ ✂➫➦➵♣s❝➅⑨❹❶①❣❁⑨✡⑨❹⑥➅➀➶❾☎⑨❏➩s⑦✸❾❅➦◗♠➶⑨❹➞☞⑤➅❣✤➀➅⑨❹❶➎➦☞✢❺❤☞↔⑧⑨➎r❱⑨❹⑥➅➀➶②☞⑨④❿➅⑨④②☞⑦➭✈✇r✍✈❷❶✾⑨④➀✉❤☞➳Ø③ ✑◗t❧➟❇③④❶❺➛❧⑦➙❶❷❤✽↔↕❤➎t❷t✟⑨❩➀✖❝➅③✉②

⑥❢❤✝✈✇➛✱③❩❶❷➜✉t✧➛❧⑦↕✈①❝❂❶✾⑨❹⑥✩➀✉③④❣✚❣✤③④➇❢⑦➙↔➙⑦➭✈✇r④➦❽♣s⑤❢➇➅❣➫⑦↕✈➤✈①❤✽➀❂➟❇③④❶❧❿➅⑤❢➇❢↔➙⑦➙②✽⑨❉✈❷⑦➙③④⑥❳➯✩❦➨②✝✈❷③④➇✿❤✽❶☎➈❹➉❩➉④➃➅➦
☛➙➄✽➉ ✌❅❜✺➦❩♣✉❣✤⑨④↔↕↔✩⑨❹⑥➅➀ ☎✸➦❩❒✟⑨④⑨❩t☞➦✩❜❞❝➅❤☎t➤❝✩⑨❹❶①❤✽➀❥➛❧⑦↕❶①❤☞↔➙❤✽t①t✻⑦➙⑥✉➟❇③❩t➤✈①⑨❹✈❷⑦➙③④⑥✤❣➫③❢➀✉❤☞↔✉➳✮⑨✺⑥❢❤✽➛ ⑨④➀➫❝❢③✉②❞⑥❢❤✝✈✇➛✱③❩❶❷➜s⑦➙⑥❢➍

❿➅⑨❹❶✾⑨④➀❢⑦↕➍❩❣ ➾❇③❩❶❺➛❧❝➅❤☞❶①❤✕✈①❝❢❤☞❶①❤❥⑦⑧t➨⑨➲➛❧❝➅⑨④↔↕❤❩➯✿✈❷❝❢❤✽❶❷❤❥⑦⑧t➨⑨➲➛❞⑨➎r❢➚➝➦✺➧➥⑥ ✝ ✩ ✑✢✜ ✯ ✑ ✆ ✖ ✣ ✎
✞
✡●✥ ✁☎✩✕✡❂✆✟✥ ✠ ✑✟✡ ✆✟✄

✵ ✞ ✁ ✤❅✑✟✭✬✠ ✬ ✁ ✑✪✡ ✎✒✑ ✓ ✠☛✄✝✁ ✖ ✘ ✙✚✑❏✜ ✣✛✁ ✥ ✦★✑✟✩✬✫ ✠☛✡✔☞✚✆✟✡ ✘ ✣ ✑ ✁ ✤✝✬❅✥✧✠☛✡✌☞ ✁✧✎✒✑✔✓✕✠ ✒❅✑✢✜✌✄❉➯❩❻✟⑥❢⑥➅⑨❹❿✿③❩↔↕⑦⑧t☞➯④♠❱⑨❹❶①r➘➳
↔⑧⑨❹⑥➅➀➵➯ ✤❺♣✉❻✬➯ ✝❹⑤❢⑥❢❤✬➈❹➉❩➉④➃❢➦

☛➙➄④➄✞✌✂✁✬➦❉♣srs❶❷③④✈❷⑦➙⑤❢➜➨⑨④⑥➅➀✬✐❺➦ ✝❢➦❉✐✱③❩↔↕➇✿③❩⑤❢❶❷⑥➠➦④❾❧③❩⑤✉✈❷⑦➙⑥❢➍✟⑦↕⑥✕❣✤③④➇❢⑦➙↔➙❤❽⑨④❤☞❶①⑦➙⑨④↔❹⑥❢❤☞✈➥➛✱③❩❶❷➜✉t✽➦❉➧➥⑥ ✝ ✩ ✑✢✜ ✯ ✑ ✆ ✆ ✑✟✩✬✫❏✭ ✒❅✑❍✤
✑✟✡✒✎✒✑✢✘ ✁ ✄ ✠✼✡✔☞ ✆✪✡❂✘ ✍ ✤ ✥ ✠ ✁ ✠✿✪✢✆✪✥✧✠ ✑✪✡ ✠☛✡✒✎✒✑ ✓ ✠☛✄✝✁ ✩ ✖✂✘✛✙✚✑❏✜ ✆✟✡ ✘ ✆ ✠☛✩ ✁☎✄✝✁ ✭✬✭ ✣✚✁☎✥✧✦★✑✪✩✬✫✢✭ ✁ ✆ ✠✏✍ ✤ ✥✒✑ ✓ ✄ ✄❏➯
♣s③④❿➅❝❢⑦➙⑨✤❻✟⑥❩✈①⑦↕❿✿③❩↔↕⑦⑧t☞➯➅❮➅❶✾⑨❹⑥➅②☞❤④➯➅♠❱⑨❹❶✾②①❝❱➈❹➉❩➉④➃❢➦

☛➙➄➎➈✔✌ ✂➫➦ ❒✕➦✸➪➺❤✽⑦➙t①t✽➦ ✖ ✭ ✤❅✁ ✜☎✥✧✭ ✆✟✡ ✘ ✖ ✤ ✤ ✄ ✠ ✜✬✆✟✥ ✠ ✑✪✡❀✭ ✑ ✆ ✥✄✒✌✁ �✂✆✪✡❂✘ ✑ ✁ ✆ ✆✟✄ ✫❏➦➺❾☎⑨❹⑥➅➀❢③④❣✶♠❱⑨❹✈❷❤☞❶①⑦⑧⑨❹↔⑧t✕⑨④⑥➅➀
⑩❭❶①③✉②✝❤➎t❷t❷❤✽t✽➦✉❼❭↔⑧t➤❤✽➩➘⑦➙❤☞❶❺♣✉②✝⑦➙❤☞⑥➅②☞❤❅➼➨➦ ✁✬➯➅➸☎③❩❶➤✈①❝✖❒☎③④↔➙↔⑧⑨❹⑥➅➀➵➯➅❻☎❣❁t➤✈❷❤☞❶✾➀❢⑨④❣❂➯➅❜❞❝❢❤✕➸☎❤✝✈①❝❢❤☞❶①↔⑧⑨❹⑥➅➀❢t✽➯➵➄➎➌④➌❹➊✩➦

☛➙➄✽➃ ✌ ✝❹⑤➅⑥❢➍④➜④❤✽⑤❢⑥☎✄◆③s③❩⑥➠➯❩♠✖⑦↕⑥➅➍④r❩⑨④⑥ ✔ ⑦↕⑤❳➯④⑨④⑥➅➀❥➼✧❶①⑦⑧⑨❹⑥➫➸☎③④➇➅↔↕❤❩➦➅❾☎⑨❹⑥➅➀✉③❩❣✴➛✧⑨❏r➘❿✿③❩⑦↕⑥➘✈❭②✝③❩⑥➅t❷⑦➙➀✉❤✽❶❷❤➎➀✕❝✩⑨❹❶①❣❥➟❇⑤❢↔Ø➦
➧➥⑥ ✝ ✩ ✑✢✜ ✯ ✑ ✆ ✞ ✞✠✞ ✞ ✞ ✡ ✆ ✑❏✜ ✑ ✁ ✣ ✑✟✡ ✆ ✯ ➯✿♣✉⑨④⑥✖❮❢❶✾⑨❹⑥➅②☞⑦➙t①②✝③✩➯❢♠❱⑨❹❶✾②✾❝✉➳ ❻✟❿❢❶❷⑦➙↔➠➈④➉④➉❩➃❢➦

✗✝✆✞✆➽✁☎☛➲✙✖✠ ☎✼✗ ✟✡✠ ✫✸✒❁✒✂✁ ✒✂✁☛✠ ✫✸✒☞✆➽✒✕✯✮✠➝✦✸✠✝✒✬☛ ☎✍✌ ☎

❜❞❝❢❤✖➀✉❤✽⑥➅t❷⑦➭✈✇r➹❿❢❶①③④➇✩⑨❹➇❢⑦➙↔↕⑦↕✈✇r
q(x, t;u0)

✈①❝➅⑨❉✈➫✈①❝❢❤✖➼✧❶①③❏➛❧⑥❢⑦⑧⑨❹⑥❑❣➫③④✈❷⑦➙③④⑥ {u(t), t ≥ 0} ⑦➙t➫⑦➙⑥ ❿✿③❩t❷⑦➭✈①⑦↕③❩⑥
x ∈ (0, R)

⑨❹✈❥✈❷⑦➙❣✤❤
t
➯◆➍❩⑦↕➩④❤✽⑥➹✈①❝➅⑨❉✈

u(0) = u0
⑨④⑥➅➀➹✈❷❝✩⑨❉✈➫✈❷❝❢❤✖➼✧❶①③❏➛❧⑥➅⑦➙⑨④⑥➹❣✤③④✈❷⑦➙③④⑥❑❝➅⑨④t➫⑥❢③❹✈✤➇✿❤☞❤☞⑥

⑨④➇➅t➤③❩❶❷➇✿❤➎➀✡⑤❢❿❂✈①③➫✈❷⑦➙❣✤❤
t
➯❢⑦➙t ☛ ✝❢➯❢❿➠➦❽➈❩➂④➂✉➯s➟❇③④❶①❣✬⑤❢↔➙⑨✖➾ ✝❢➦Ó➈✉➦➙➄➎➚ ✌ ☛➙➄➎➈s➯❢❿➅⑨④➍④❤✤➄✏✕ ✕✏✌

w(x, t;u0) =
2

R

∑

n≥1

e−(nπ/R)2Dt sin
(nπx

R

)

sin
(nπu0

R

)

.

♣s⑦➙⑥➅②✝❤ {u(t), t ≥ 0} ⑨❹⑥➅➀ {v(t), t ≥ 0} ⑨❹❶①❤✬⑦↕⑥➅➀❢❤☞❿✿❤☞⑥✩➀✉❤☞⑥❩✈✕⑨❹⑥➅➀➶⑦⑧➀✉❤☞⑥➘✈❷⑦⑧②☞⑨❹↔❭➼✧❶❷③❉➛❧⑥❢⑦⑧⑨❹⑥❱❣✤③❹✈①⑦↕③❩⑥➅t✽➯✿➛✱❤➀✉❤➎➀✉⑤➅②✝❤❞➟❇❶①③④❣✴✈①❝❢❤☎⑨④➇✿③❏➩④❤✧✈❷❝➅⑨❹✈❭✈①❝❢❤☎➀✉❤✽⑥➅t➤⑦↕✈✇r✬❿❢❶①③④➇➅⑨④➇❢⑦➙↔↕⑦↕✈➥r
p(x, y, t;u0, v0)

✈①❝➅⑨❉✈❭✈①❝❢❤❞✈✇➛✱③④➳ ➀✉⑦➙❣✤❤☞⑥➅t❷⑦➙③④⑥➅⑨❹↔
➼✧❶①③❏➛❧⑥❢⑦⑧⑨❹⑥✡❣✤③❹✈①⑦↕③❩⑥

Z
⑦⑧t✱⑦➙⑥✍❿✿③❩t❷⑦➭✈①⑦↕③❩⑥

(x, y)
⑨❉✈✧✈❷⑦➙❣✤❤

t
➯s➛❧⑦↕✈❷❝❢③❩⑤✉✈❞❝➅⑨❏➩➘⑦➙⑥❢➍❥❝❢⑦↕✈❞③④⑥➅❤❺③❹➟➠✈①❝❢❤✺t❷⑦➙➀❢❤✽t✱③④➟➠✈❷❝➅❤

t✗✙➘⑤➅⑨❹❶①❤✽t✧⑤❢❿❂✈❷③➫✈①⑦➙❣➫❤
t
➯❢⑦⑧t❞➍❩⑦↕➩④❤✽⑥✍➇sr

p(x, y, t;u0, v0) = w(x, t;u0)w(y, t; v0). 0 < x, y < R.
➾✇➄✗✓❩➚

✐✱③❩⑥➅➀✉⑦↕✈❷⑦➙③④⑥❢❤➎➀❛③④⑥
z(0) = (u0, v0)

➯✮✈❷❝❢❤➲❿❢❶❷③❩➇➅⑨❹➇➅⑦↕↔➙⑦➭✈✇r
S(t;u0, v0) = P (τR > t)

✈❷❝➅⑨❹✈✕✈❷❝❢❤✡❿➅❶❷③✉②☞❤✽t①t
❝➅⑨❩t❞⑥❢③❹✈☎❝❢⑦↕✈❧✈❷❝❢❤❅➇✿③❩⑤❢⑥➅➀❢⑨④❶❷⑦➙❤✽t❞⑨❹✈❞✈①⑦↕❣✤❤

t
➾❘③❹➟ ✈❷❤✽⑥❱②☞⑨❹↔➙↔➙❤✽➀➲✈❷❝➅❤❅t❷⑤❢❶①➩s⑦↕➩❹⑨❹↔◗❿❢❶①③④➇➅⑨④➇❢⑦➙↔↕⑦↕✈➥r ☛ ✝✔✌ ➚✧⑦⑧t❧➍④⑦➙➩④❤☞⑥❂➇➘r

✬✮✭✸❉✯✬✮✰



�✂✁☎✄✝✆✟✞✟✠☛✡✌☞✍✠☛✡✏✎✒✑✔✓✕✠☛✄✝✁✗✖✂✘✚✙✛✑✢✜✤✣✚✁☎✥✧✦★✑✪✩✬✫✢✭ ➄✏✕

S(t;u0, v0) =

∫ R

0

∫ R

0

p(x, y, t;u0, v0)dxdy.

❜❞❝❢❤✽❶❷❤☞➟❇③④❶①❤④➯

S(t;u0, v0) =

∫ R

0

w(x, t;u0)dx

∫ R

0

w(y, t; v0)dy

=
4

R2

∑

m≥1

e−(mπ/R)2Dt sin
(mπu0

R

)

∫ R

0

sin
(mπx

R

)

dx ×

∑

n≥1

e−(nπ/R)2Dt sin
(nπv0

R

)

∫ R

0

sin
(nπy

R

)

dy
➾✇➄✏✕④➚

=
16

π2

∑

m≥1
m � ✁✄✁

∑

m≥1
n � ✁✄✁

sin
(

mπu0

R

)

sin
(

nπv0

R

)

mn
e−

π
2

R2
(m2+n2)Dt,

➛❧❝❢❤✽❶❷❤❁✈❷❝❢❤➲⑤❢⑥❢⑦↕➟❇③④❶①❣✢②☞③④⑥➘➩❩❤☞❶❷➍❩❤☞⑥➅②☞❤✤③❹➟❞✈❷❝❢❤✍t❷❤☞❶①⑦↕❤➎t
w(x, t; ·) ⑦↕⑥ x ∈ [0,∞)

➾❘➇✿❤✽②☞⑨④⑤➅t❷❤ |w(x, t; ·)| ≤
1/(1 − exp(−(π/R)2Dt))

➚✟⑨④↔↕↔➙③❏➛☎t✟③❩⑥❢❤✬✈❷③✍⑦➙⑥❩✈①❤☞❶✾②①❝➅⑨④⑥❢➍④❤✬⑦➙⑥❩✈①❤☞➍④❶✾⑨❹↔✻⑨❹⑥➅➀➽t➤⑤➅❣➫❣❁⑨❹✈❷⑦➙③④⑥➺t➤⑦➙➍④⑥➅t❺⑦➙⑥ ➾✇➄✔✕❹➚➝➦
➸✟③❹✈❷❤❥✈❷❝✩⑨❉✈✽➯❳⑨④t❺❤☞➢s❿✿❤➎②➝✈❷❤➎➀➵➯

S(0;u0, v0) = 1
t❷⑦↕⑥➅②☞❤ ∑

i≥1 sin((2i − 1)x)/(2i − 1) = π/4
➟❇③❩❶✺⑨❹↔➙↔

x☛ ➊➅➯❢❮➅③④❶①❣✬⑤❢↔⑧⑨✍➄❩➦ ➊❩➊➘➈✉➦➙➄✍✌ ➦
❮✮⑦➙⑥➅⑨④↔↕↔➙r④➯

τR(u0, v0) =

∫ ∞

0

S(t;u0, v0) dt

=
16

π2

∫ ∞

0

∑

m≥1
m � ✁✄✁

∑

m≥1
n � ✁✄✁

sin
(

mπu0

R

)

sin
(

nπv0

R

)

mn
e−

π
2

R2
(m2+n2)Dt dt

➾✇➄ ✝➘➚

=
16

π2

∑

m≥1
m � ✁✄✁

∑

m≥1
n � ✁✄✁

sin
(

mπu0

R

)

sin
(

nπv0

R

)

mn

∫ ∞

0

e−
π
2

R2
(m2+n2)Dtdt

➾✇➄✽➌➘➚

=
16R2

Dπ4

∞
∑

m≥1
m � ✁✄✁

∞
∑

n≥1
n � ✁✄✁

sin
(

mπu0

R

)

sin
(

nπv0

R

)

mn(m2 + n2)
,

➛❧❝❢❤✽❶❷❤❥➛✱❤➫❝➅⑨❏➩④❤❥⑤➅t➤❤➎➀❱✈①❝❢❤➫❿❢❶①③④❿✿❤☞❶❷✈✇r✍✈①❝➅⑨❉✈➨✈①❝❢❤✤t➤❤✽❶❷⑦➙❤✽t
S(t; ·, ·) ⑦⑧t❺⑤➅⑥❢⑦➭➟❇③❩❶❷❣✤↔➙r➶②✝③④⑥s➩④❤☞❶①➍④❤☞⑥➘✈❺⑦➙⑥ [0,∞)➾❫t➤⑦➙⑥➅②✝❤

S(t; ·, ·) ≤ 1
➟❇③④❶✟⑨❹↔➙↔

t ≥ 0
➇sr✍➀✉❤☞➡➅⑥❢⑦↕✈❷⑦➙③④⑥✖③④➟

S(t; ·, ·) ➚✧✈❷③❁⑦➙⑥❩✈①❤☞❶✾②①❝➅⑨④⑥❢➍④❤➨✈①❝❢❤✕t❷⑤❢❣✤❣❁⑨❉✈①⑦↕③❩⑥✖⑨④⑥➅➀✈①❝❢❤❅⑦↕⑥➘✈❷❤✽➍④❶✾⑨❹↔➵t❷⑦➙➍④⑥➅t❞⑦➙⑥ ➾➤➄ ✝❩➚❽✈①③✤➍❩⑦↕➩④❤❁➾✇➄➎➌❩➚✝➦❭❜❞❝❢⑦⑧t❧②☞③④⑥➅②☞↔↕⑤➅➀❢❤✽t✧✈①❝❢❤❅❿❢❶❷③✉③❹➟✇➦

✗✝✆✞✆➽✁☎☛➲✙✖✠ ☎✑✵ ✟ ✠ ✫✮✒❁✒✂✁ ✒✂✁☛✠ ✫✸✒☞✆➽✒✕✯✮✠➝✦✸✠✝✒❥☛ � ✌✞✠

✔ ❤✝✈
x(t)

⑨④⑥➅➀
y(t)

➇✿❤➽✈❷❝❢❤➺❶❷❤✽↔➙⑨❹✈❷⑦➙➩④❤➶❿✿③❩t❷⑦➭✈①⑦➙③④⑥➅t➲⑨❹✈➲✈❷⑦➙❣✤❤
t
③④➟❅❣✤③❩➇❢⑦↕↔➙❤✽t

X
⑨④⑥➅➀

Y
⑦↕⑥

[0, L]
⑨④⑥➅➀

[L, 2L]
➯✿❶❷❤➎t➤❿✿❤➎②➝✈❷⑦➙➩④❤☞↔➙r❩➦ ✔ ❤☞✈

T
✈❷❝❢❤✬➡➅❶①t➤✈☎✈①⑦↕❣✤❤❥➛❧❝❢❤☞⑥

x(t) + r ≥ y(t) + L
➦❺❦❺➇➅t❷❤☞❶①➩④❤✺✈❷❝✩⑨❉✈

T = 0
⑦↕➟

❉✻❉ Ù✪❊●❋✕❍❏■✕■



➄ ✝ ✖ ✄ ✥ ✁ ✆✪✡✄✂✆☎ ✩ ✑✢✁☎✡❂✁✞✝ ✁☎✄ ✥✟✂ ✣✛✆✟✠☛✡

x(0) + r ≥ y(0) + L
➦❭➪❛❤❅❝➅⑨➎➩④❤

P (y(T ) < y | x(0) = x0) =
1

L

∫ L

0

P (y(T ) < y |x(0) = x0, y(0) = y0) dy0

=
1

L

∫ L

0

1{x0+r≥L+y0}1{y>y0} dy0

+
1

L

∫ L

0

1{x0+r<L+y0,y≥r−L}P (y(T ) < y |x(0) = x0, y(0) = y0) dy0

=
1

L
min(x0 + r − L, y)

+
1

L
1{y≥r−L,x0<2L−r}

∫ L

x0+r−L

P (y(T ) < y |x(0) = x0, y(0) = y0) dy0,

➛❧❝❢❤✽❶❷❤✧✈①❝❢❤❧⑦➙⑥➅➀✉⑦⑧②☞⑨❹✈❷③④❶✻➟❇⑤❢⑥✩②➝✈❷⑦➙③④⑥
1{y≥r−L}

⑦➙⑥➫✈❷❝❢❤☎t❷❤✽②☞③④⑥➅➀❥⑦➙⑥❩✈①❤☞➍❩❶①⑨④↔s⑦➙⑥➫✈❷❝❢❤✟t➤❤➎②✝③④⑥➅➀❥❤ ✙❩⑤✩⑨❹↔➙⑦➭✈✇r❥⑨④②☞②☞③④⑤❢⑥➘✈①t
➟❇③❩❶➠✈①❝❢❤❽➟❘⑨④②➝✈✮✈❷❝✩⑨❉✈✸⑦➭➟❢✈❷❝❢❤❽✈❷❶✾⑨❹⑥➅t➤➟❇❤☞❶✸➀✉③s❤➎t➠⑥❢③④✈❳✈✾⑨❹➜④❤❽❿❢↔➙⑨❩②✝❤✱⑨❉✈

t = 0
➾❇⑤➅⑥➅➀✉❤☞❶✮✈❷❝➅❤✱②☞③④⑥➅➀✉⑦↕✈❷⑦➙③④⑥

x0+r < y+L✈①❝❢❤☞⑥➫⑥❢❤➎②✝❤✽t①t①⑨❹❶①⑦↕↔➙r
T > 0

➚❳✈❷❝❢❤✽⑥➫❣✤③④➇❢⑦➙↔➙❤
Y
②✽⑨❹⑥❥⑥❢③④✈❭➇✩❤❞↔➙③✉②☞⑨❹✈❷❤➎➀✕⑦➙⑥

[L,L−r)
⑨❉✈✻✈❷⑦➙❣✤❤

T
⑨❩t✸③❹✈❷❝➅❤☞❶①➛❧⑦➙t❷❤

✈①❝❢❤❧❶❷❤✽↔➙⑨❏r❅➛✱③❩⑤❢↔⑧➀❥❝➅⑨❏➩④❤✧③❢②☞②✝⑤❢❶①❶①❤✽➀✬➇✩❤☞➟❇③④❶①❤✧✈❷⑦➙❣➫❤
T
➦ ✢❺⑦✧✑✿❤✽❶❷❤☞⑥➘✈❷⑦⑧⑨❉✈①⑦↕⑥➅➍✺➇✿③❹✈①❝✤t❷⑦⑧➀✉❤✽t✻③④➟✩✈❷❝❢❤☎⑨④➇✿③❏➩④❤✧❶①❤☞↔⑧⑨❉✈①⑦↕③❩⑥

➛❧⑦↕✈❷❝✖❶①❤☞➍❩⑨④❶①➀❢t✱✈❷③
y
➍④⑦➙➩④❤✽t

q(y;x0) =
1

L
1{y≤x0+r−L} +

1

L
1{y≥r−L,x0<2L−r}

∫ L

x0+r−L

g(y;x0, y0) dy0,
➾❫➈❹➉➘➚

➛❧⑦↕✈❷❝
g(y;x0, y0) := (∂/∂y)P (y(T ) < y |x(0) = x0, y(0) = y0)

➦ ➧ ✈❂❶①❤☞❣❁⑨❹⑦➙⑥➅t✡✈①③ ❤☞➩❉⑨④↔↕⑤✩⑨❉✈❷❤
g(y;x0, y0)

➦➨❜✮③❁✈①❝❢⑦⑧t❺❤☞⑥➅➀➵➯◗➛✱❤❥➛❧⑦↕↔➙↔✸⑤➅t❷❤❥⑨❹➍➘⑨❹⑦➙⑥✖✈❷❝❢❤❥❣✤❤✝✈①❝❢③✉➀➶③❹➟◆⑦➙❣✤⑨④➍④❤➎t✬➾❫t➤❤☞❤❥❿❢❶①③s③❹➟❭③④➟❽⑩❭❶❷③❩❿✿③❩t❷⑦➭✈①⑦↕③❩⑥
➈❢➦↕➄❏➚➝➦

✐✱③④⑥➅t❷⑦➙➀❢❤☞❶✺⑨✍t✗✙➘⑤➅⑨❹❶①❤✬③❹➟✧t➤⑦➙➞☞❤
R
➇➘r

R
➯➵➛❧⑦↕✈❷❝

R =
√

2(2L − r)
➯➠➀✉❤✽↔↕⑦➙❣✤⑦➭✈①❤✽➀➺➇➘r✖✈①❝❢❤✖➾❫⑨❹➇➅t❷③④❶①➇❢⑦➙⑥❢➍➘➚

➇✿③❩⑤❢⑥➅➀❢⑨❹❶①⑦➙❤✽t
x′ = 0

➯
x′ = R

➯
y′ = 0

⑨❹⑥➅➀
y′ = R

➦◆♣s✈①⑨❹❶❷✈❷⑦➙⑥❢➍✬➟❇❶①③④❣ ❿✿③❩t❷⑦➭✈①⑦↕③❩⑥
(x′

0, y
′
0)
⑨❉✈✱✈①⑦↕❣✤❤

t = 0
➯

✈①❝❢❤✡❿✿➀✉➟
p(x′, y′, t;x′

0, y
′
0)

③❹➟✧✈❷❝❢❤✡↔➙③✉②☞⑨❹✈❷⑦➙③④⑥❛③❹➟❧⑨❂✈✇➛✱③❹➳➥➀✉⑦➙❣✤❤☞⑥➅t❷⑦↕③❩⑥➅⑨❹↔❽➼✱❶①③❉➛❧⑥❢⑦➙⑨④⑥➺❣✤③❹✈①⑦➙③④⑥➹⑨❉✈❅✈①⑦↕❣✤❤
t
➯

➍❩⑦↕➩④❤✽⑥➲✈①❝➅⑨❉✈❧✈❷❝➅❤❅❣➫③❩➇❢⑦➙↔↕❤✺❝✩⑨④t❞⑥❢③④✈❧➇✿❤☞❤✽⑥✖⑨④➇➅t➤③❩❶❷➇✿❤➎➀✡⑤➅❿✍✈①③➫✈①⑦↕❣✤❤
t
➯❢⑦➙t❧➍④⑦➙➩④❤☞⑥❂➇➘r➺➾❫t➤❤✽❤❁➾➤➄ ✓❩➚❷➚

p(x′, y′, t;x′
0, y

′
0) =

4

R2

∑

n≥1

∑

n≥1

e−(m2+n2)(π/R)2Dt×

sin

(

mπx′

R

)

sin

(

nπy′

R

)

sin

(

mπx′
0

R

)

sin

(

nπy′
0

R

)

.
➾❫➈✉➄❏➚

❜❞❝❢⑦⑧t✟❤✝➢✉❿❢❶①❤✽t①t➤⑦➙③④⑥✖➛❧⑦➙↔↕↔✮➇✿❤✬⑤➅t❷❤✽➀❱↔➙⑨❹✈❷❤☞❶✟③❩⑥✖✈❷③✍➀✉❤☞❶①⑦➙➩④❤❅✈❷❝❢❤✬❿◗➀s➟❽③❹➟✻✈①❝❢❤✬↔↕③❢②☞⑨❉✈①⑦↕③❩⑥✖➛❧❝❢❤✽❶❷❤❅✈①❝❢❤❥➼✧❶❷③❉➛❧⑥❢⑦⑧⑨❹⑥
❣✤③❹✈①⑦↕③❩⑥❂❝❢⑦➭✈✾t❞✈❷❝❢❤✕t❷⑦⑧➀✉❤✺③④➟✮✈❷❝❢❤✕t✗✙➘⑤➅⑨❹❶①❤❺➟❇③④❶❞✈①❝❢❤✺➡➅❶①t➤✈❞✈①⑦↕❣✤❤④➦

✔ ❤✝✈
ξ(x′, y′;x′

0, y
′
0)

➾
0 ≤ x′, y′, x′

0, y
′
0 ≤ R

➚➝➯❽➇✿❤✍✈①❝❢❤❂❿◗➀s➟❺③④➟☎✈❷❝❢❤❱⑨❹➇➅t❷③④❶①❿✉✈❷⑦➙③④⑥ ③✉②✽②✝⑤❢❶①❶❷⑦➙⑥❢➍➺⑨❉✈
❿✿③❩⑦↕⑥➘✈

(x′, y′)
➦❁♣s⑦➙⑥➅②✝❤✤➛✱❤✤❝✩⑨➎➩④❤✤⑨④❿❢❿❢↔➙⑦↕❤➎➀➶✈①❝❢❤✤❣✤❤✝✈①❝❢③✉➀➺③④➟✱⑦➙❣✤⑨④➍④❤➎t❺➛✧❤➫➡➅⑥➅➀➽✈①❝➅⑨❉✈

g(y;x0, y0)
⑦➙t➨✈①❝❢❤

t❷⑤❢❣ ③❹➟❧➟❇③❩⑤❢❶❥③❹➟❧✈①❝❢❤✽t❷❤❂②✝③④❣✤❿✿③④⑥➅❤☞⑥❩✈✾t☞➦➺➸❺⑨❹❣✤❤☞↔➙r❩➯✻➛❧⑦↕✈❷❝
x′ =

√
2(y+L−r)

➯❭⑦↕✈➫⑦⑧t✕✈①❝❢❤❂t➤⑤❢❣ ③④➟❧✈❷❝❢❤
➀✉❤✽⑥➅t➤⑦↕✈①⑦↕❤➎t◆③④➟➵❝❢⑦↕✈➤✈①⑦↕⑥➅➍✕✈❷❝❢❤➨t➤⑦⑧➀✉❤✟③❹➟◗✈①❝❢❤❺t✗✙➘⑤➅⑨❹❶①❤

R×R
⑨❉✈❽✈❷❝❢❤✟❿✿③❩⑦↕⑥➘✈①t

(x′, 0)
➯
(0, x′)

➯
(R−x′, R)

➯s⑨❹⑥✩➀

✬✮✭✸❉✯✬✮✰



�✂✁☎✄✝✆✟✞✟✠☛✡✌☞✍✠☛✡✏✎✒✑✔✓✕✠☛✄✝✁✗✖✂✘✚✙✛✑✢✜✤✣✚✁☎✥✧✦★✑✪✩✬✫✢✭ ➄✽➌

(R,R − x′)
➦❭➪ ⑦↕✈❷❝

x′
0 = (y0+x0+L−r)/

√
2
⑨❹⑥➅➀

y′
0 = (y0−x0+L−r)/

√
2
✈①❝❢⑦⑧t❧➍④⑦➙➩④❤✽t

g(y;x0, y0) =ξ
(

x′, 0;x′
0, y

′
0

)

+ ξ
(

0, x′;x′
0, y

′
0

)

+ ξ
(

R−x′, R;x′
0, y

′
0

)

+ ξ
(

R,R−x′;x′
0, y

′
0

)

.

❦❺⑥s➛✧⑨❹❶✾➀✤②☞⑨④↔➙②☞⑤❢↔⑧⑨❉✈❷⑦➙③④⑥✩t◆②☞⑨④⑥❁➇✿❤❺t➤⑦➙❣✤❿❢↔➙⑦➭➡✩❤✽➀✡t❷↔↕⑦➙➍④❝➘✈❷↔➙r❥➇sr➫❣❁⑨❹➜s⑦➙⑥❢➍✕⑤➅t❷❤☎③④➟➠t➤rs❣✤❣✤❤✝✈①❶❷r✤⑨❹❶①➍④⑤❢❣✤❤✽⑥❩✈①t✽➦❭✐✱③❩⑥✉➳
✈①⑦↕⑥s⑤❢③④⑤➅t☎❶①③❹✈✾⑨❉✈①⑦↕③❩⑥❂③❹➟✻✈❷❝➅❤✬t✗✙➘⑤➅⑨❹❶①❤✺➇➘r

90o ❣✤❤➎⑨❹⑥➅t❧✈❷❝➅⑨❹✈✟❤✽⑨❩②①❝❱③❹➟✻✈❷❝❢❤✕✈❷❤☞❶①❣❁t✟②☞⑨❹⑥❱➇✿❤✕❶❷❤✽❿❢↔⑧⑨④②✝❤➎➀✍➇sr➲✈①❝❢❤➀✉❤✽⑥➅t➤⑦↕✈✇r➹③❹➟☎✈❷❝❢❤❂❿❢❶①③④➇✩⑨❹➇❢⑦➙↔↕⑦↕✈✇r ③❹➟✟❝❢⑦↕✈➤✈❷⑦➙⑥❢➍➺✈①❝❢❤✖t➤⑦⑧➀✉❤✍③④➟☎✈❷❝❢❤✖t✘✙➘⑤➅⑨④❶❷❤✍⑨❹✈
(x′, 0)

➛❧❝❢⑦➙↔➙❤❂t➤✈①⑨④❶➤✈①⑦↕⑥❢➍➽➟❇❶❷③❩❣❂➯
❶①❤✽t❷❿✿❤✽②➝✈①⑦↕➩❩❤☞↔➙r④➯

(x′
0, y

′
0)
➯
(y′

0, x
′
0)
➯
(R − x′

0, R − y′
0)
➯❢③❩❶

(R − y′
0, R − x′

0)
➦◆❜❞❝❢⑦➙t❧➍④⑦➙➩④❤✽t

g(y;x0, y0) =ξ (x′, 0;x′
0, y

′
0) + ξ (x′, 0; y′

0, x
′
0)

+ ξ (x′, 0;R−x′
0, R−y′

0) + ξ (x′, 0;R−y′
0, R−x′

0) .
➾❫➈④➈❩➚

➸✟③❹✈❷❤❞✈❷❝➅⑨❹✈◆⑨④↔➭✈①❝❢③④⑤➅➍④❝
ξ(x′, 0; ·, ·) ⑥❢③✺↔➙③④⑥❢➍❩❤☞❶❭②☞③④⑥❩✈✾⑨❹⑦➙⑥➅t y′ ➯④⑦↕✈❽t✇✈①⑦↕↔➙↔➅➀✉❤☞❿✿❤✽⑥➅➀❢t❭③④⑥ y

➯
x0
➯❩⑨④⑥➅➀

y0
✈①❝❢❶❷③❩⑤❢➍④❝

x′ =
√

2(y+L−r)
➯
x′

0 = (y0+x0+L−r)/
√

2
➯s⑨④⑥➅➀

y′
0 = (y0−x0+L−r)/

√
2
➦✸➧ ✈✧❶❷❤✽❣✤⑨④⑦↕⑥✩t❭✈❷③❥t➤③❩↔↕➩④❤

ξ (x′, 0;x′
0, y

′
0)
➟❇③④❶☎⑨④⑥➘r✍t➤❤☞✈❧③④➟✸⑦➙⑥❢⑦↕✈❷⑦⑧⑨❹↔❳②✝③❩⑥➅➀✉⑦↕✈❷⑦➙③④⑥➅t

(x′
0, y

′
0)
➦❭➪❛❤✕t➤❝✩⑨❹↔➙↔➠➀✉③✤✈❷❝❢⑦⑧t❞✈❷❝➅❶❷③❩⑤❢➍④❝✍✈❷❝❢❤❅❝➅❤☞↔➙❿❂③④➟

✈①❝❢❤✺➡➅❶①t➤✈➤➳ ❿➅⑨❩t❷t①⑨❹➍④❤❺❿❢❶①③④➇➅⑨④➇❢⑦➙↔↕⑦↕✈➥r✡③④➟✮✈❷❝❢❤❅❿✿③❩⑦↕⑥➘✈
(x′, 0)

➦
➧ ➟

j(x′, t)
⑦➙t✧✈①❝❢❤✺❿◗➀s➟✻③❹➟✮✈❷❝❢❤✺➡➅❶①t➤✈❷➳Ø❿➅⑨❩t❷t①⑨❹➍④❤❺❿❢❶❷③❩➇➅⑨❹➇❢⑦➙↔➙⑦➭✈✇r❁③④➟✮❝❢⑦↕✈➤✈①⑦➙⑥❢➍➫✈①❝❢❤❅⑨④➇➅t➤③❩❶❷➇➅⑦↕⑥❢➍❥➇✿③❩⑤❢⑥➅➀❢⑨④❶❷r❁③④➟

✈①❝❢❤✕t✘✙➘⑤➅⑨④❶❷❤❺➟❇③❩❶❞✈❷❝❢❤✺➡➅❶✾t✇✈❧✈❷⑦➙❣✤❤❅⑦↕⑥❂✈❷❝❢❤❅❿✿③❩⑦↕⑥➘✈
(x′, 0)

⑨❉✈❧✈❷⑦➙❣➫❤
t
➯✉✈①❝❢❤☞⑥✖⑥➅⑨❹✈❷⑤❢❶✾⑨❹↔➙↔➙r

ξ(x′, 0;x′
0, y

′
0) =

∫ ∞

0

j(x′, t)dt,
➾Ø➈❹➃➘➚

t❷⑦↕⑥✩②✝❤❺⑦➭✈❞⑦⑧t❽✈❷❝❢❤➨❿❢❶①③④➇➅⑨④➇❢⑦↕↔➙⑦↕✈➥r❁➀✉❤☞⑥✩t➤⑦↕✈➥r❁③④➟➠❝❢⑦↕✈➤✈①⑦↕⑥➅➍✬✈①❝❢❤❺➇✿③❩⑤❢⑥➅➀❢⑨④❶❷r➫➟❇③④❶✱✈❷❝❢❤❺➡➅❶✾t✇✈✱✈❷⑦➙❣✤❤❺⑦➙⑥
(x′, 0)

③❉➩④❤☞❶✧⑨④↔↕↔
✈①⑦↕❣✤❤④➦

➧ ✈✺⑦⑧t➨➜s⑥❢③❉➛❧⑥ ☛ ✝❢➯➠❿➠➦✤➈④➂❢➯◗❿❳➦✬➊s➂✏✌✻✈❷❝➅⑨❹✈
j(x′, t)
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j(x′, t) = D
∂p(x′, y′, t;x′

0, y
′
0)

∂y′ |y′=0,

➛❧⑦↕✈❷❝
p(x′, y′, t;x′

0, y
′
0)

✈❷❝❢❤❂❿◗➀s➟✟③❹➟☎✈❷❝❢❤❂↔↕③✉②✽⑨❉✈①⑦↕③❩⑥➹③❹➟☎✈❷❝❢❤❂➼✧❶①③❏➛❧⑥➅⑦➙⑨④⑥➹❣➫③④✈❷⑦➙③④⑥❑⑨❹✈✬✈①⑦↕❣✤❤
t
➍④⑦➙➩④❤☞⑥ ➇sr
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ξ(x′, 0;x′
0, y

′
0) =D

∫ ∞

0

∂p(x′, y′, t;x′
0, y

′
0)

∂y′ |y′=0 dt

=
4

Rπ

∑

n≥1

∑

n≥1

n

m2 + n2
sin

(

mπx′

R

)

sin

(

mπx′
0

R

)

sin

(

nπy′
0

R

)

.
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